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KVS DIRECT RECRUITMENT EXAMINATIONS
(Candidate Response Sheet)

Roll Number

Name of the Candidate

Examination Name KVS KO TGT Social Science

Exam Date & Time 12-02-2023 09:00:00

Subject : GE_Q01-Q10_KOTGTSS

Question ID:- 1

SCANTY
Choose the word similar in meaning to the one given above.
(1) Single
(2) Distressing
(3) Scarce
(4) sl
Options:-

.1, Option ID :- 1,
.2, Option ID :- 2,
. 3, Option ID :- 3,

. 4, Option ID :- 4,
Answer Given:- 2, Option ID : -2

Question ID:- 2

DEVIOUS
Choose the word opposite in meaning to the one given above.
(1) Covert

(2) Furtive

(3)  Quiet

(4) Innocent
Options:-

.1, Option ID :- 5,
. 2, Option ID :- 6,
. 3, Option ID :- 7,

. 4, Option ID :- 8,
Answer Given:- 2, Option ID : -6

Question ID:- 3

Identify the part of speech of the underlined word in the following sentence.

The gentle are not always weak.

(1) Adjective
(2) Adverb
(3) Noun

(4) Verb
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Options:-

.1, Option ID :- 9,

. 2, Option ID :- 10,
. 3, Option ID :- 11,

. 4, Option ID :- 12,
Answer Given:- 3, Option ID : -11

Question ID:- 4

She is eating an apple.
Choose the option in which the above sentence has been written in Passive Voice.
(1) An apple has been eaten by her.

(2) An apple is being eaten by her.

(3) An apple was eaten by her.

(4) An apple was being eaten by her. ®
Options:-

.1, Option ID :- 13,
. 2, Option ID :- 14,
. 3, Option ID :- 15,

. 4, Option ID :- 16,
Answer Given:- 3, Option ID : -15

Question ID:- 5

Kewal said, “Lata, why are you working so hard ?”
Choose the option in which the above sentence has been changed into Indirect Narration.

(1) Kewal said to Lata why she was working so hard.

(2) Kewal told Lata why is she working so hard.

(3) Kewal enquired Lata why was she working so hard.

(4) Kewal enquired of Lata why she was working so hard.
Options:-

.1, Option ID :- 17,
. 2, Option ID :- 18,
. 3, Option ID :- 19,

. 4, Option ID :- 20,
Answer Given:- 3, Option ID : -19

Question ID:- 6
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Rearrange the following jumbled words/phrases into a meaningful and grammatically correct
sentence.

(A) boughtis
(B) the horse
(C) recently
(
(

D) an Arab
E) which I
(1) DEABC
(2) CBDAE
(3) ABDEC
(4) BECAD
Options:-

.1, Option ID :- 21,
. 2, Option ID :- 22,
. 3, Option ID :- 23,

. 4, Option ID :- 24,
Answer Given:- 4, Option ID : -24

Question ID:- 7

Identify the part of the sentence given below which has an error.

Sarita told / me that / sheis / going to Mumbai

(a) (b) () (d)
(1) (a)
(2) (b)
(3) (o)
(4)  (d)
Options:-

.1, Option ID :- 25,
. 2, Option ID :- 26,
. 3, Option ID :- 27,

. 4, Option ID :- 28,
Answer Given:- 3, Option ID : -27

Question ID:- 8

Identify the tense in which the sentence given below is written.

His silence will prove his guilt.

(1) Simple Present
(2) Simple Past

(3) Simple Future
(4) Present Perfect
Options:-

.1, Option ID :- 29,
. 2, Option ID :- 30,
. 3, Option ID :- 31,
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. 4, Option ID :- 32,
Answer Given:- 3, Option ID : -31

Question ID:- 9

Choose the option out of the ones that follow to fill in the blank in the sentence given below.
Nothing will be gained hurry.

(1) with

(2) in

(3) by

(4) through
Options:-

.1, Option ID :- 33,
. 2, Option ID :- 34,
. 3, Option ID :- 35,

. 4, Option ID :- 36,
Answer Given:- 2, Option ID : -34

Question ID:- 10

Choose the option out of the ones that follow to fill in the blank in the sentence given below.

Heard melodies are sweet those unheard are sweeter.
(1) yet
(2) but
(3) and
(4) for
Options:-

.1, Option ID :- 37,
. 2, Option ID :- 38,
. 3, Option ID :- 39,

. 4, Option ID :- 40,
Answer Given:- 2, Option ID : -38

Subject : GH_Q11-Q20_KOTGTSS

Question ID:- 11

=4 feu 7T TRy W veeR 39 W e 9eH o gaiftes 3fea sw e

o9 o1 77 R e 21 39 79 w1 ifa 7 fae gewdt | 59 w7 ot wiifa =2, 39 g e fia wehar g 2
&g a1, ST SR e o forehr S gl HfEeR 0§ Sehid 81 Hehdll |

T R e R 9 &1 fhern
(1) #eE
2) Ham
3) @
(4) T
Options:-

.1, Option ID :- 41,
. 2, Option ID :- 42,
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. 3, Option ID :- 43,

. 4, Option ID :- 44,
Answer Given:- 3, Option ID : -43

Question ID:- 12

= fou MU TR Y e 39 W eneid W o gaitue sfEa SR Sfe )

5 o197 7= w1 Ti=mn =181 39 wA &1 iifa 721 foet wepe | 58 77 =61 wifa =71, 36 9@ Y A 91 g 2
T rEAISH, AreAIe SR aE o R S g Afees U 9 STshia € Hehal 7 |

T+ ot 9Nifd & fae sEd 2

(1) Ushidemd

(2)  HET FHE

(3) HA 1 THA

(4) =1 9 frEEm
Options:-

.1, Option ID :- 45,
«. 2, Option ID :- 46,
. 3, Option ID :- 47,

. 4, Option ID :- 48,
Answer Given:- 4, Option ID : -48

Question ID:- 13

= feu T iy 1 Uget SH W Hd 9 o Haitde sfed S e |

T o1 WA R i e 3/ o o wifa e et wendt | 59 7wt wifa 72T, o6 g e et e © 2
T rEISH, arEAe SiR a1 foER € e HrAfhes I 9 STshia € Hehal 7 |

g HHAF W H qed €
TY HHEE U :

(1) TS | = S
2) 5% 3w wHe @
(3) TSR gaTSt argE @
4) TSR 3o gey @
Options:-

.1, Option ID :- 49,
. 2, Option ID :- 50,
. 3, Option ID :- 51,

. 4, Option ID :- 52,
Answer Given:- 2, Option ID : -50

Question ID:- 14
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= fou MU TR Y UER 39 W eneia we o gaitue sfea SR Sfe )

oy ero 7= W Foiaror 72 =% 79 @t wiifa = e wemelt | ot v =t wnif =1, =9 g 9 fae g g 2
e rEISH, AreAIe SR aE o R S g Arfees U 9 Sshia € Hehal 7 |

AT AT FRIE :

(1) A

(2) =

(3) =94

(4) AR
Options:-

.1, Option ID :- 53,
. 2, Option ID :- 54,
. 3, Option ID :- 55,

. 4, Option ID :- 56,
Answer Given:- 2, Option ID : -54

Question ID:- 15

= fou MU TR Y e 39 W eneia we o gaitue sfea SR Sfew )

58 e W= W e =& 39 w9 w1 wifa el et weedt | i@ v @t wifa we, 39 g Y e 9sar § ?
e rEISH, AreAe SR aE o R S g Hrfees U 9 STshia & Hehal 7 |

it 1 faeim &
(1) swifd
(@ &

(3) @

(4) el
Options:-

.1, Option ID :- 57,
. 2, Option ID :- 58,
. 3, Option ID :- 59,

. 4, Option ID :- 60,
Answer Given:- 1, Option ID : -57

Question ID:- 16

TEHE-TCEH 1 SIHA-H 7 ST § 2
(1) H&T - e

(2) HIR - FWUHR

(3) T -Tg

4) v - TaeE
Options:-

.1, Option ID :- 61,
. 2, Option ID :- 62,
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. 3, Option ID :- 63,

. 4, Option ID :- 64,
Answer Given:- 4, Option ID : -64

Question ID:- 17

Options:-

.1, Option ID :- 65,
« 2, Option ID :- 66,
. 3, Option ID :- 67,

. 4, Option ID :- 68,
Answer Given:- 3, Option ID : -67

Question ID:- 18

Y &1 S H ISR STETE ¥

(1) wel+ 38 = wéig
2) <a+3%% =198
(3) IR+ I - I
(4) Hd + U = HIH

Options:-

.1, Option ID :- 69,
. 2, Option ID :- 70,
. 3, Option ID :- 71,

. 4, Option ID :- 72,
Answer Given:- 1, Option ID : -69

Question ID:- 19

He ¥ 91 ws-g T

(1) ==

2) <u-fagw

(3) ®R-&I

(4) STE-SITE
Options:-

.1, Option ID :- 73,
. 2, Option ID :- 74,
. 3, Option ID :- 75,

. 4, Option ID :- 76,
Answer Given:- 2, Option ID : -74

Question ID:- 20
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gfte vre 1 faeim o= & -

(1) g=i

(2) s

(3) 1A

(4) g
Options:-

.1, Option ID :- 77,
. 2, Option ID :- 78,
. 3, Option ID :- 79,

. 4, Option ID :- 80,
Answer Given:- 2, Option ID : -78

Subject : GA_Q21-Q30_KOTGTSS

Question ID:- 21

Which of the following lists contains only output devices ?

(1) Flat Panel Display Technology, Printers, Optical Character Recogniser, Monitor
(2) Printer, Plotter, Barcode Reader, Monitor

(3) Monitor, E-ink Display, Printer, Plotter

(4) Printer, Magnetic Ink Character Recognition, E-ink Display, Plotter

frafafaa & | =9 o g= # Faa rseqe feasy wita 22

(1) e Ta ferra qea, fiex, siifesa wieet RehmrsR, A
2) THex, wier, aree e, AHe

(3) I, §-3% ferw, fie, wiie

@) Tz, e g et farmfem, 354 ferma, wie

Options:-

.1, Option ID :- 81,
. 2, Option ID :- 82,
. 3, Option ID :- 83,

. 4, Option ID :- 84,
Answer Given:- 4, Option ID : -84

Question ID:- 22
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If an athlete takes ‘t" seconds to go once around the circular path of radius r’,

What is the athlete’s speed ?

m =
B 7=
@ =

=fg e e ‘v 5 9t U gamhR Ruy 1 SER e o T odr © 1 verelte ot wifa fea 2

1 2t
2
mr
2 =
@ -
T
'3 P
) 2t
p  oX
@) —
Options:-

.1, Option ID :- 85,
. 2, Option ID :- 86,
. 3, Option ID :- 87,

. 4, Option ID :- 88,
Answer Given:- 1, Option ID : -85

Question ID:- 23
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Consider the following statements regarding the launch of Missile Destroyers/Frigates warship of
the Indian Navy :

(A) ‘Surat’ and ‘Udaygiri” are two frontline warships of the Indian Navy.
(B) ‘Surat’ is the second stealth frigate of P17A class.
(C) “Udaygiri’ is the fourth stealth - guided Missile destroyer of P15B class.

Which of the following statements given above is/are correct ?

(1) y (A) and (B)
(2) y (B) and (C)
(3) Only (A) and (C)
(4) y (A)

TR 8 F fred Serd/ e 25 F S & 9R § fFefafag we ) faer fwe)
(A) ‘TRA’ IR SAATY IRA T 6 S ST gEdd §
(B) ‘HEa'W-17 A Ioit Y g W TR ®
(C) ‘Seafr’ di-15 B 4oft =1 =i wey Meee fomme TR ¥
39 | F R F/H FUA G 8/ ?
(1) & (A) ¥R (B)
(2) %ad (B) 3R (C)
(3) e (A) 3R (C)
(4) FE (A)

Options:-

.1, Option ID :- 89,
« 2, Option ID :- 90,
. 3, Option ID :- 91,

. 4, Option ID :- 92,
Answer Given:- 3, Option ID : -91

Question ID:- 24



https://aview.in/
https://aview.in/category/previous-papers/

Math List - I with List - IT and select the correct answer using the codes given below :

List - 1 List - IT

(Arjuna awardees, 2022) (Sport’s/Games)
(A) Sakshi Kumari (i) Mallakhamb
(B) Nayan Moni Saikia (i) Kabaddi
(C) Sagar Kailas Ovhalkar (iii) Shooting
(D) Elavenil Valarivan (iv) Lawn Bowls
Codes

A) B (© (D
M O G @ @)
@ () @ 6 G
() (v O G G
(@) @) @) @) 6

et - 1 3R g - 11 =1 foem Fifee sk = e T e o w@m = g w8 39 & = fRfe

Tt - 1 et - 11

(s T fer 2022) (&)
(A) weft o (i) Heo@y
(B) = I Hfepa (i) woEET
(C) §R Few siEget (i) FromaTSTt
(D) zemafer aefieE (iv) i =1Sed
FE

(A) (B) () (D)
1 @ @) @ @)
(2) @) (@v) (@) (i)
3 Gv) @ @) (@)
@) @@ @@ (@) @
Options:-

.1, Option ID :- 93,
. 2, Option ID :- 94,
. 3, Option ID :- 95,

. 4, Option ID :- 96,
Answer Given:- 2, Option ID : -94

Question ID:- 25
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Among the following authors whose Book/Title was selected for the Sahitya Akademi Award
2022 in English language ?

(1) Kamayani Vashisht
(2) Easterine Kire

(3) Anuraddha Roy
(4)

Devdutt Pattanaik

Frafafaa srasi § | g o &t Jeae /9 & STist aren o wifecd sTeherl QUenR, 2022 & faw g
TR ?

(1) = a e

(2) STETE HNK

(3) oTaE A

(4) <EgH YETES
Options:-

.1, Option ID :- 97,
. 2, Option ID :- 98,
. 3, Option ID :- 99,

. 4, Option ID :- 100,
Answer Given:- 3, Option ID : -99

Question ID:- 26

Which of the following Indian leaders have served both as the Prime Minister and the Deputy
Prime Minister of the country ?

(1) Jagjivan Ram

(2) Choudhary Charan Singh
(3) LK Gujaral
(

4) V.P. Singh

frefafiga § 9 forg YRE™ Ja1 3 91 & YUHEE 91 SU-NeEEsT, 2F 'Y H s fEm g ?
(1) SFTsiEH

(2) e =vo g

(3) TR, T

(4) o fog
Options:-

.1, Option ID :- 101,
. 2, Option ID :- 102,
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. 3, Option ID :- 103,

. 4, Option ID :- 104,
Answer Given:- 3, Option ID : -103

Question ID:- 27
Which kind of the forest is most widespread in India ?

(1) Tropical Evergreen Forests
(2) Tropical Deciduous Forests
(3) Mangrove Forests

(4) Thorn Forests

qd H foFd YR o o waiifaes steored § 2
(1) SwrekfeEdl HI@Er o
(2) SorEHfeSEHl qUITT o

(3) HT® el =
(4) HIEER T
Options:-

.1, Option ID :- 105,
« 2, Option ID :- 106,
. 3, Option ID :- 107,

. 4, Option ID :- 108,
Answer Given:- 2, Option ID : -106

Question ID:- 28
Consider the following statements :

(a) Indian Rupee depreciated to breach the Rupees 80 per dollar mark for the first time in July
2022

(b)  The value of Rupee to one dollar at the time of independence was 20

Choose the correct answer from the codes below :

(1) (a) is correct but (b) is wrong
(2) (a) is wrong but (b) is correct
(3) both (a) and (b) are correct
(4) both (a) and (b) are wrong



https://aview.in/
https://aview.in/category/previous-papers/

Frefafed A = faar e

(a) SEME, 2022 H UgEl IR YR 91 iRt 80 $UC Ufq Efer & TR =l IR &1 741 |
(b)  STISTIET o THY T SioR % YehEel TIT FHT HHd 20 TIC o |

=14 feu T %z | wEl IW F =7 fFHE)

(1) (a) & 2 fohg (b) T &

(2) (a) T & Ty (b) W R

3) (a) 3R (b), S W €

4) (a) 3R (b), I e §)

Options:-

.1, Option ID :- 109,
. 2, Option ID :- 110,
. 3, Option ID :- 111,

. 4, Option ID :- 112,
Answer Given:- 3, Option ID : -111

Question ID:- 29

Who appoints the Advocate General of a State in India ?

(1) Chief Justice of the Supreme Court

(2) Chief Justice of the High Court of the concerned state
(3) Governor of the concerned state

(4) The President of India

A H fodll U5 o HRifuasr (Teaehe e ) i FHgfer i 3 § ?
(1) I=FaH A & & =AM

(2) wafad U9 % 3= e & e SR

(3) HafHd T % I

(4) 9Rd % TEIf

Options:-

.1, Option ID :- 113,
« 2, Option ID :- 114,
. 3, Option ID :- 115,

. 4, Option ID :- 116,
Answer Given:- 2, Option ID : -114

Question ID:- 30
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Whose birthday is celebrated in India as the Farmer’s Day ?

(1) Lal Bahadur Shastri

(2) Choudhary Charan Singh

(3) Sir Chhotu Ram

(4) Swami Sahajanand Saraswati

W H forges safes &1 fram feag & ®9 9 99 S &2

(1) el S=IET s
(2) e =R e
(3) WP

(4) FErHT HESTHS HIE!

Options:-

.1, Option ID :- 117,
. 2, Option ID :- 118,
. 3, Option ID :- 119,

. 4, Option ID :- 120,
Answer Given:- 2, Option ID : -118

Subject : RA _Q31-Q35_KOTGTSS
Question ID:- 31

The given question is based on the following information :
] $ K means ‘J is husband of K’;

] * K means ‘] is mother of K’;

] # K means ‘] is sister of K';

] ® K means ‘] is son of K;

If'F#]@®TS$R*L', then how is ‘F related to ‘R" ?

(1) Mother

(2) Sister

(3) Sister-in-law
(4) Daughter
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T e oA Frefafen SRt = enefa 2

J$ K@ a1 ‘], K &1 ufa &

J*K#w AL 8 '] K AEIR

JHKF AT ‘] K H TR

JOKHFAIT ', KA ET

IR F#TOT$R*L & ‘F, 'R ¥ fry yspr graf=ra 872

(1) Hwa
(2) =&
(3) et
(4) Tl
Options:-

.1, Option ID :- 121,
. 2, Option ID :- 122,
. 3, Option ID :- 123,

. 4, Option ID :- 124,
Answer Given:- 4, Option ID : -124

Question ID:- 32

Three statements showing relationships have been given which are followed by two conclusions
(I) and (II). Assuming that the given statements are true, find out which of the conclusions is/are
definitely true.

Statements : (1) F=<M

2) J>D
(3) M<]
Conclusions : (I) J>F
(I) D=M
(1) Only conclusion (I) is true
(2) Only conclusion (II) is true
(3) Both conclusions (I) and (II) are true
(4) Neither conclusion (I) nor (II) is true

e ey g Al 9 e faw T E s arg € e (1) @i () few e § ) e e g T TR e e
e €, g8 91 e fom e qud frend fafvea e @ wd 2782

®AT: (1) F<M

@ J>D
(3) Mc<]
ferd: (@ J>F
) D=M

(1) Faa fepd (1) T 1

(2) *haet Tk (1) @ €1

(3) TR (1) @i () <T@ €

(4) < el § | R o wE A ¥
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Options:-

.1, Option ID :- 125,
« 2, Option ID :- 126,
. 3, Option ID :- 127,

. 4, Option ID :- 128,
Answer Given:- 1, Option ID : -125

Question ID:- 33

D,E F, G, ], K, L and M are eight friends sitting around a circular table facing towards the centre.
‘K’ is on the immediate right of ‘E'. “L" is the neighbour of ‘]". “F is between ]’ and ‘K’. "M’ is on the
immediate left of ‘D’, but is not the neighbour of ‘]" or “G". What is the position of ‘G’ ?

(1) On the immediate left of ‘E’

(2) On the immediate left of ‘D

(3) Second to the right of ‘K’
(4)

4 Between ‘E’ and ‘K’

a8 I D, E, F, G, ], K, L 3R M U JaIHR ¥9 & =R 3R 39 F5 Fi 3R 4§ F% 9 gL 'K/, 'E’
o Tk S SR E | L, T WIS ¥ 1 CF, ) a1 K S SE B ® 1 MY, ‘D’ UsheH 9l SR € fahg T,
a1 ‘G 1 IEE TR € 1 G fafa #n g2

(1) ‘B’ % UHeH o/l 3R

(2) ‘D % UHeH FEl AR

(3) ‘K % SRl SR gH TH W

(4) “E K & §=9

Options:-

.1, Option ID :- 129,
. 2, Option ID :- 130,
. 3, Option ID :- 131,

. 4, Option ID :- 132,
Answer Given:- 1, Option ID : -129

Question ID:- 34
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Three statements are given followed by three conclusions (I), (II) and (III). You have to take these
statements to be true, even if they seem to be at variance from commonly known facts. Decide
which of the given conclusions logically follow(s) from the given statements.

Statements :

(1)
2)
3)

Conclusions :
(1)
(1)
(I1I)

(1)

(2)

(3)

(4) All follows

All bags are purses.
No purse is suitcase.
Some suifcases are containers.

No container is purse.
Some containers are purses.
No suitcase is bag.

Only conclusion (III) follows
Only conclusion (I) and (II) follows
Only either conclusion (I) or (II) and (III) follows

e i e few mu g fome ang o fed (1), (1) TR (1) f&w e 2 1 saent 39 Ferl 1 TEl 1 © =R
F |EE: 9 92l § o= b T 2 fola wifse R we wra e feu e weEl § aifthes w1 3

Torereran 272 ?
hY
(1) ' s ad §
2) e TH geRd TR g
(3) FT YIHhd HeH B
frreere -
@) IS HeR g TE B
() FB heR TH 2|
(L) oh1E FohE o &l 2|
(1) Faa Frekd (1) Frererr &
(2) FHaa Frepd (1) @R (1) Freper €
(3) aa = @ frepd (1) steran (1) Frereran €, ofR fsendd (101) Frreheran €
(4) Tt frerd freera §
Options:-

.1, Option ID :- 133,

. 2, Option ID :- 134,
. 3, Option ID :- 135,
. 4, Option ID :- 136,

Answer Given:- 1, Option ID : -133

Question ID:- 35
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Choose the Venn diagram from the options which represents the correct relationship amongst the
given classes :

Human beings, Teachers, Unmarried

@b@o
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feu u fasredi § 9 TF 99 AN &1 999 Fifau 51 feu U avf % == & g9 S g &
qHd, 2199, Afaarted

(4)

Options:-

.1, Option ID :- 137,
. 2, Option ID :- 138,
. 3, Option ID :- 139,

. 4, Option ID :- 140,
Answer Given:- 3, Option ID : -139

Subject : CL_Q36-Q40_KOTGTSS

Question ID:- 36

Which of the following is the default operating system of Microsoft devices ?

(1) Chrome OS
(2) Linux

(3) Windows
(4) 10S
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frafafaa 5 9 0 @ gesEie feay &1 s femee At fiea § 2

(1) %M 3l T™
(2) BT
(3) fas=

(4) % 37 TH
Options:-

.1, Option ID :- 141,
. 2, Option ID :- 142,
. 3, Option ID :- 143,

. 4, Option ID :- 144,
Answer Given:- 3, Option ID : -143

Question ID:- 37

Four flash drives A, B, C and D have storage capacity 10 PB, 10 GB, 10 ZB, 10 TB respectively
Which of the following holds true w.r.t. the storage capacity of A, B, C and D drives ?

1 B>D>C>A

3

(1)

(2) B>D>A>C
(3) A>C>D>B
(4)

4y C>A>D>B

TR WA 8T A, B, C 3R D &l HHST: 10 Wt i, 10 St &, 10 S &t 2R 10 2t ot RS W1 &1 A, B, C
3R D greey =it WS gl % Hay o fFrefofed § 9 o5 e § 2

(1) B>D>C>A
(2 B>D>A>C
(3) A>C>D>B
(4 C>A>D>B

Options:-

.1, Option ID :- 145,
. 2, Option ID :- 146,
. 3, Option ID :- 147,

. 4, Option ID :- 148,
Answer Given:- 1, Option ID : -145

Question ID:- 38
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The security of a website can be ensured by :

(1) if the url begins with ftp

(2) if the url begins with http

(3) if the url begins with https and has the padlock icon before the url
(4) if the url begins with http and ends with .saf

et TS ot GUaT ol fohdeh gR1 gHfv=a fohan St dear @ 2

(1) a9 3R T (wrl), frp T TH &1 8

(2) A€ url, http ¥ IE A7

(3) A url, https | YE 2 T 2K 309 wrl ¥ vzt Teaiish sifesa &
(4) A url, http § & 21 & X saf | A T &

Options:-

.1, Option ID :- 149,
« 2, Option ID :- 150,
. 3, Option ID :- 151,

. 4, Option ID :- 152,
Answer Given:- 3, Option ID : -151

Question ID:- 39
Memory that retain its contents even when the power is switched off is known as :
(1) Volatile
(2) Non-volatile
(3) Static
(4) Random

& e fa= o 21 ad off 7 S fawg a5g () 1 uita Tl 2, # Fgan & ?
(1) #AfeR (FemeEa)
2) IR-sAfeer (A SeeEa)

(3) fer (=few)
(4) FEfE® (=)
Options:-

.1, Option ID :- 153,
« 2, Option ID :- 154,
. 3, Option ID :- 155,

. 4, Option ID :- 156,
Answer Given:- 2, Option ID : -154
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Question ID:- 40

Which of the following feature is not included in character formatting in MS-Word ?

1 Making text-bold

3

(1)

(2) Changing colour of the text

( Adjusting space between lines
(

)
4) Changing font of the text

TH U g€ H el HHien § i H forivar wmive 78§ ?
(1) o< =l dies oA

(2) ¢ H FHOR TG

(3) Al o S % WY hl TS HT

(4) R TH B qEAT

Options:-

.1, Option ID :- 157,
. 2, Option ID :- 158,
. 3, Option ID :- 159,

. 4, Option ID :- 160,
Answer Given:- 3, Option ID : -159

Subject : UL_Q41-Q50_KOTGTSS

Question ID:- 41

By undertaking social service in community can be ensured.
(1) Teacher student relation

(2) School management relation

(3) Home school relationship

(4) Teacher Parent relation

THed § wHS a1 & wremm 9 feifea § 9 @ gitve e s wwa €2

(1) e fagae day

(2) fomme yeuE Hay

(3) e ferner Hay

(4) STEATH-AMES GoiH
Options:-

.1, Option ID :- 161,
« 2, Option ID :- 162,
. 3, Option ID :- 163,

. 4, Option ID :- 164,
Answer Given:- 3, Option ID : -163

Question ID:- 42
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What do you mean by maturation in child’'s growth ?
(1) Only growth

(2) Only development

(3) It is a growth and development

(4) Matured thinking

e & faeE § aftggaar 1 aeed f=ifera o § frgg & 2

(1) e Fqfs
(2) “haa Tasr™
(3) Haw Hafg iR fawm
(4) uftges feaA
Options:-

.1, Option ID :- 165,
. 2, Option ID :- 166,
. 3, Option ID :- 167,

. 4, Option ID :- 168,
Answer Given:- 4, Option ID : -168

Question ID:- 43

What programs in schools would you suggest to address turbulance in adolescents ?
(1) Adolescence program

(2) Adolescence awareness program

(3) Adolescence counselling program

(4) Adolescence health education program

TR aTerehl H “erege’ g &t o T o1ueh faar | foranera § & 91 s =em Sl =ie ?

(1) ToreiRreEn Friwy

(2) TeRsirTaEe SITEFd HEHT

(3) TeRsirrE®en WAel A

(4) ToRsTrrEse wrea foan wrisa
Options:-

.1, Option ID :- 169,
. 2, Option ID :- 170,
. 3, Option ID :- 171,

. 4, Option ID :- 172,
Answer Given:- 2, Option ID : -170

Question ID:- 44
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The Boys and Girls in adolescent stage expect in school.
(1) Co-operation

(2) Sympathy

(3) Empathy

(4) Emotional support

Toreimaeen § et SR sifererd foramed § frgert s1ien wad €2
(1) Hsam

(2) weryfa

(3) Ty

(4)  HTEATHE FEAR
Options:-

.1, Option ID :- 173,
. 2, Option ID :- 174,
. 3, Option ID :- 175,

. 4, Option ID :- 176,
Answer Given:- 2, Option ID : -174

Question ID:- 45

The social and emotional development is a key factor for :
(1) Growth of child at teenage

(2) Healthy growth of child at formative stage

(3) Growth of child at adolescence

(4) For healthy growth of adult

e SR iaATEs T feifea § 9 feee fag mecegul =R €2
(1) TS (TETEEN) ¥ =T & fawd
(2) YRS =01 H ares w5 Ee faww
(3) Teruirreren # e =1 o
(4) Y = =y faed
Options:-
.1, Option ID :- 177,
. 2, Option ID :- 178,
. 3, Option ID :- 179,

. 4, Option ID :- 180,
Answer Given:- 1, Option ID : -177

Question ID:- 46
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Setting self as a role model, what would you ensure ?
(1) Moral values

(2) Cultural values

(3) Democratic values
(4)

4 Instrumental values

W4 &l oTeyl Safad % €9 H WEd w & weraey freited § 9 @ giafvem g 2
(1) s e

(2) WiEpfdF g
(3) EERAIF T
(4) HI-FHR A

Options:-

.1, Option ID :- 181,
. 2, Option ID :- 182,
. 3, Option ID :- 183,

. 4, Option ID :- 184,
Answer Given:- 3, Option ID : -183

Question ID:- 47

Which one of the following could be a major cause of Juvenile delinquency ?
(1) Poor classroom environment

(2) Defective curriculum

(3) Poor socio Economic status

(4) Parents attitude

FoReiR SToRTIga =1 §2 R 91 & Heha1 § 7

(1) el & = G qRA

(2) <ol argFEE

(3) A HrHItSIeR e fefa

(4) e w5 g
Options:-

.1, Option ID :- 185,
. 2, Option ID :- 186,
. 3, Option ID :- 187,

. 4, Option ID :- 188,
Answer Given:- 3, Option ID : -187

Question ID:- 48
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Education is the creation of ‘Sound mind in a sound body” viewed by :
(1) Spenser

(2) Aristotle
(3) Rousseau
(4) Plato

Freifera § | formen gfesm & T ey sk & ey giarss & fam €12

(2) 3]

(3) ®H

(4) @&
Options:-

.1, Option ID :- 189,
. 2, Option ID :- 190,
. 3, Option ID :- 191,

. 4, Option ID :- 192,
Answer Given:- 3, Option ID : -191

Question ID:- 49

What is significance of study tour in School Education ?
(1) Breaks monotony

(2) Promotes collaborative attitude

(3) Entertainment value
(4)

4)  Fulfills the project work requirement

el foan § sere SR i #n edeha € 2

(1) SO TSl H1 W& GO 2 § 1

(2) = wewiiarEe sAfvafa i aemen faem €1

(3) TEH THRSF Hed ¥

(4) 3HH GRS & o STuar gfd ) Fe fear s g
Options:-

.1, Option ID :- 193,
« 2, Option ID :- 194,
. 3, Option ID :- 195,

. 4, Option ID :- 196,
Answer Given:- 4, Option ID : -196

Question ID:- 50
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Investigatory projects given to students comes under :
(1) Experiential Learning

(2) Activity based Learning

(3) Classical Learning
(4)

4 Cognitive Learning

Terefel=i =t sr=rt wfErsrn fifend § & forges siaria st €2

Options:-

.1, Option ID :- 197,
. 2, Option ID :- 198,
. 3, Option ID :- 199,

. 4, Option ID :- 200,
Answer Given:- 1, Option ID : -197

Subject : UTL_Q51-Q65_KOTGTSS
Question ID:- 51

Skill development is associated with :
(1) Affective Domain

(2) Psychomotor Domain
(3) Cognitive Domain
(4) Emotional Domain

w9 faemrs Feifeg § @ el grafiq &2

(1) EcEH &7

(2) TS &

(3) HAFTHS &

(4) ST &5
Options:-

.1, Option ID :- 201,
« 2, Option ID :- 202,
. 3, Option ID :- 203,

. 4, Option ID :- 204,
Answer Given:- 1, Option ID : -201

Question ID:- 52
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The “stimulus-response’ is not associated with

(1) Skinner’s theory of learning
(2) Sharrif Kentril learning theory
(3) Thorndike theory of learning
(4) Pavlov's conditioning theory

‘FeEv-srferen’ Frifera | 9 fored Heag e €7

(1) TR = sAferm fagia

(2) SRI%-sfza = At fagia

(3) 9TFeEF 1 A fHgid

(4) YEAE H1 SAEOA i
Options:-

.1, Option ID :- 205,
« 2, Option ID :- 206,
. 3, Option ID :- 207,

. 4, Option ID :- 208,
Answer Given:- 2, Option ID : -206

Question ID:- 53

The oldest system of philosophy is
(1) Idealism

(2) Realism

(3) Naturalism

(4) Pragmatism

9 Y YrEHTH HOTeT §

(1) seyEmE

(2) TdaTE

(3) WHfaaR

(4) STHTTAER
Options:-

.1, Option ID :- 209,
« 2, Option ID :- 210,
. 3, Option ID :- 211,

. 4, Option ID :- 212,
Answer Given:- 1, Option ID : -209

Question ID:- 54
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‘Pragmatism’ is closely aligned with

(1) Existentialism
(2) Marxism

(3) Naturalism
(4) Realism

‘IuEifiamEre’ freifed 8 9 fred T w9 9 geag B 2

(1) AR
(2) WEHAR
(3) WHfeaTg
(4) FenefarE

Options:-

.1, Option ID :- 213,
. 2, Option ID :- 214,
. 3, Option ID :- 215,

. 4, Option ID :- 216,
Answer Given:- 4, Option ID : -216

Question ID:- 55

What is “TLM" ?

(1) Teaching Learning Material
(2) Teaching Learning Method

(3) Technical Learning Material
(4) Theory Learning Material

ATATHFE?

(1) Zifsm & wefaa
(2) Zifen af ags
(3) ferrera @ffn g
(4) oA AT weiEa
Options:-

.1, Option ID :- 217,
. 2, Option ID :- 218,
. 3, Option ID :- 219,

. 4, Option ID :- 220,
Answer Given:- 1, Option ID : -217

Question ID:- 56
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The learner develops knowledge by building blocks of information could be attributed to :
(1) Experimentalism

(2) Constructivism
(3) Connectivism
(4) Behaviourism

1E 2fermerRal gert & enunfies o e (fafen <) & wom § 99 § afgfs w158 = Fa
EIR:CT &

(1)  TaTeg
(2) TEAER
(3) HYHFEE
(4) HIBNER
Options:-

.1, Option ID :- 221,
. 2, Option ID :- 222,
. 3, Option ID :- 223,

. 4, Option ID :- 224,
Answer Given:- 2, Option ID : -222

Question ID:- 57

What do you understand by “Learning” ?
(1) Gaining knowledge

(2) Achieving high academic excellence
(3) Positive altered behaviour
(4) Manipulation of circumstances

“siferme’ F smraeRT 1 AT € 2

(1) SEEH

(2) I IAFEHF Icheedl YE Bl
(3) HeHH ditafda sFemr
(4) RfEf & seEsE

Options:-

.1, Option ID :- 225,
. 2, Option ID :- 226,
. 3, Option ID :- 227,

. 4, Option ID :- 228,
Answer Given:- 3, Option ID : -227

Question ID:- 58
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Non threatening and supportive classroom environment leads to :
(1) Tension free learning

(2) Joyful learning
(3) Effective learning
(4) Informal learning

HET A FH THEd AR TeHTF el 8F & Herawy f=ifshd H ° 991 861 § 7

(2) @Ry fumm
(3) wwiEl i

(4) oTiTvETRe ST
Options:-

.1, Option ID :- 229,
« 2, Option ID :- 230,
. 3, Option ID :- 231,

. 4, Option ID :- 232,
Answer Given:- 3, Option ID : -231

Question ID:- 59

The school garden with lotus pond could be the best example of ;
(1) Living corner

(2) Learning centre
(3) Aesthetic centre
(4) Teaching corner

FHA & I Y IRy arere g faemer @ med it § 9 fhEe Iehe 35l 8 "l § ?

(1) Tafgm #HE

(2) @ferm g

(3) Higd &=

(4) oA HE
Options:-

.1, Option ID :- 233,
. 2, Option ID :- 234,
. 3, Option ID :- 235,

. 4, Option ID :- 236,
Answer Given:- 3, Option ID : -235

Question ID:- 60
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What is hidden curriculum ?

(1) The curriculum prescribed in leisure period
(2) The curriculum of SUPW

(3) Inculcating unwritten values

(4)

4) Developments of beliefs

STYehe TSIl 1§ ?
(1) 3as i 3afty o fafea ge==i
(2) TH YUl T & ead
(3) HAferfEd gea faefad e
(4) =S @ faw
Options:-

.1, Option ID :- 237,
. 2, Option ID :- 238,
. 3, Option ID :- 239,

. 4, Option ID :- 240,
Answer Given:- 1, Option ID : -237

Question ID:- 61

What should be the important characteristics feature of curriculum ?
(1)  Flexibility

(2) Learning with understanding
(3) Futuristic vision
(4)

4)  Scope for leisure activities

Tl i HEwEyYi e @ g =fey 2
(1) e

(2) HHA & WY sty

(3) wfeerma gfe

(4) A F HTHbKAT i IR
Options:-

.1, Option ID :- 241,
. 2, Option ID :- 242,
. 3, Option ID :- 243,

. 4, Option ID :- 244,
Answer Given:- 1, Option ID : -241

Question ID:- 62
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In present circumstances in classroom how do you ensure enhanced learning ?
(1) Model charts

(2) Activity based teaching

(3) Use of group discussion method

(4) Modern ICT tools

T il o o9 s § afdq sifuy 8 g w2
(1) Wi =R % AeaH §

(2) ifafafy/wEwemy i faao

3) wqE H famel faft =1 warm #eh

(4) MY 3T Fi 2 IYHE

2

Options:-

.1, Option ID :- 245,
« 2, Option ID :- 246,
. 3, Option ID :- 247,

. 4, Option ID :- 248,
Answer Given:- 4, Option ID : -248

Question ID:- 63

What is the significance of evaluation in classroom ?
(1) to measure the learning levels

(2) to find out weak areas of students

(3) remediation and counselling

(4) to gauge the ability of understanding

el Y H YR I A1 Fieferdl 8 ?
1) Ay w2 1 A9

) Terenfe=i & gee uel @ gdr e
3)  HHSN-HAMEE SR e

) HH ! Al ki gfd

Options:-

.1, Option ID :- 249,
« 2, Option ID :- 250,
. 3, Option ID :- 251,

. 4, Option ID :- 252,
Answer Given:- 1, Option ID : -249

Question ID:- 64
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The informal learning of child takes place more in

(1)  School

(2) Home

(3) Library

(4) Playground

HleTeh 1 SR s faeifrd § 9 wel a1t g 82
(1) faEme™

(2) T

(3) UEHeA

(4) E HHSA
Options:-

.1, Option ID :- 253,
« 2, Option ID :- 254,
. 3, Option ID :- 255,

. 4, Option ID :- 256,
Answer Given:- 2, Option ID : -254

Question ID:- 65

Normally the schools tend to be biased in following activity.
(1)  Self assessment of the school

(2) Assessment of classroom teaching

(3) Assessment of learning by children
(4)

4)  Assessment of overall development

e it ® 9 form sreisen o foarem o g & & ygft el €2
(1) foEme™ =1 @1

(2) e e F ST 1 e
(3) SeT=hi BT AT T AR
(4)  H9Y TR 1 STeRe

Options:-

.1, Option ID :- 257,
. 2, Option ID :- 258,
. 3, Option ID :- 259,

. 4, Option ID :- 260,
Answer Given:- 2, Option ID : -258

Subject : CCLE_Q66-Q80_KOTGTSS

Question ID:- 66
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The school could be best agency.
(1) Powerful learning centre

(2) Powerful socialising agency

(3) Activity centre
(4)

4 Knowledge transmitter

faemem f=ifra § 9 forg w9 § wafa s1fier fag & g &2
(1) S s =5

(2) YR TSR TS
(3) THEIHAT FR
(4) I % Y

Options:-

.1, Option ID :- 261,
. 2, Option ID :- 262,
. 3, Option ID :- 263,

. 4, Option ID :- 264,
Answer Given:- 2, Option ID : -262

Question ID:- 67

What is Autism ?
(1) Brain development disability

(2) Muscular disorder
(3) Sensory disorder
(4) Auditory disorder

‘siifes’ # € 2

(1) =i faswm 4 gafua @
(2) UeiE famr

(3) HeEl fasr

(4) Zau fawr
Options:-

.1, Option ID :- 265,
. 2, Option ID :- 266,
. 3, Option ID :- 267,

. 4, Option ID :- 268,
Answer Given:- 1, Option ID : -265

Question ID:- 68
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What is Dyscalicula ?

(1) Inability to speak

(2) Inability to write

(3) Inability to read

(4) Inability to identify the numbers

‘feehfargen’ @ % ?

(1) e | srama

(2) @A H SHHd

(3) U H siawdl

(4) HeAe Hi TgEH A H e
Options:-

.1, Option ID :- 269,
« 2, Option ID :- 270,
. 3, Option ID :- 271,

. 4, Option ID :- 272,
Answer Given:- 4, Option ID : -272

Question ID:- 69

What is the minimum percentage of disability prescribed to ‘Divyang’ to avail benefits from
Government ?

(1) 25%
2) 40%
(3) 35%
(4) 50%

W ggfast &1 30 e % fou fesmmsm’ 8 =ma feat fHoveda o e sfrerd 82

(1) 25%
(2 40%
(3) 35%
4 50%

Options:-

.1, Option ID :- 273,
. 2, Option ID :- 274,
. 3, Option ID :- 275,

. 4, Option ID :- 276,
Answer Given:- 2, Option ID : -274

Question ID:- 70
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How will you Identify a child in class room suffering from mental illness ?
(1) Over playing

(2) Aggression

(3) Extrovert
(

4)  Isolating from crowd

MY e el H AEfEE T | ifed arerd a1 uewd 5l 3 2

(1) =gd sfees g

(2) SATHTHER Ffd

(3) dfedeEt

(4) s @ g T H wg
Options:-

.1, Option ID :- 277,
. 2, Option ID :- 278,
. 3, Option ID :- 279,

. 4, Option ID :- 280,
Answer Given:- 2, Option ID : -278

Question ID:- 71

What is the role of Yoga and Sports in School Education ?
(1) Develops the value of co-operation

(2) Sense of belongingness

(3) Takes care of fitness of body and mind

(4) Relaxation of mind

el fonen ® A $R @t i e € 2

(1) T84 Fedm wem famfaa St 2

(2) THYH A I MG T Bl ¢ |

(3) THF WerEaEy YRR iR Afeash ST w1 faer g T
(4) #HfEw fagifa

Options:-

.1, Option ID :- 281,
« 2, Option ID :- 282,
. 3, Option ID :- 283,

. 4, Option ID :- 284,
Answer Given:- 3, Option ID : -283

Question ID:- 72
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Which one of the following leadership style is criticized ?
(1) Autocratic Leadership

(2) Democratic Leadership

(3) Servant Leadership

(4) Transformational Leadership

frefafead # & fFg ¥R 1 Tgedic! ot STeEE S S g ?
(1) E=E Aga

(2) SRdiER g
(3) IR T
(4) TUMHER TJa
Options:-

.1, Option ID :- 285,
« 2, Option ID :- 286,
. 3, Option ID :- 287,

. 4, Option ID :- 288,
Answer Given:- 3, Option ID : -287

Question ID:- 73

What is the main objective of Institutional planning ?
(1) To provide adequate funds

2) Optimum utilization of existing resources

3) To conduct workshops and seminars

4) To develop strategy for academic excellence

HEIRT FATST =1 30 Se9d B 7

(1) 9IS YU Y& T

(2) TaEmE SEEHA! 1 g=ad IUER

(3) e SR HfFAR HEfad w

(4) THEMHE Ih=dl i WHIT fahied e

Options:-

.1, Option ID :- 289,
. 2, Option ID :- 290,
. 3, Option ID :- 291,

. 4, Option ID :- 292,
Answer Given:- 2, Option ID : -290

Question ID:- 74
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What is the essential requirement of good time table in school ?

(1) Flexibility

2) Enough scope for exam schedule

3) Enough scope for leisure activity

4) To cater to the needs of teachers, students and other stakeholder

(
(
(

Thel H 39 9T SR i AT sTavIsan ¥ 2

(1) T

(2) OdIe FHEEHH H A SR

(3) ST o A KT i TAE TSEY

(4) regR-faenfeal iR st feawnfedl =1 stereaehdl gu

Options:-

.1, Option ID :- 293,
« 2, Option ID :- 294,
. 3, Option ID :- 295,

. 4, Option ID :- 296,
Answer Given:- 4, Option ID : -296

Question ID:- 75

What is the significance of annual calender in school ?

(1)  All outdoor activities can be planned in advance

(2) All types of examinations can be conducted systematically
(3)  All school programs can be executed with ease

(4) School vacation can be planned in advance

Torrmer | a1fifer Fefet 1+ e § 2

(1) =\t afedn wfafafesl vea @ feEifsa =t o wwd €

(2) =yafeyd 9 H Ut ER FT et e w1 S gt €
(3) forener & Wit HrlHA GrHATgEe wEiad R ST Had € |
(4) THel H T2 (SFHM) F ASH Teed ¥ FAR H ST GheT €

Options:-

.1, Option ID :- 297,
« 2, Option ID :- 298,
. 3, Option ID :- 299,

. 4, Option ID :- 300,
Answer Given:- 3, Option ID : -299

Question ID:- 76
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The following ensures school-industry relation :
(I) Vocational training program

(2) Organizing seminars

(3) Organizing industry visit by the school
(4)

4 Orientation programs

Frifera | 9 forad foamrmer e =1 gsiy gfafeed g €72

(1) =HaEIF GreTor Fems

(2) WEAR #1 SEEH

(3) ToRIed gRI SR Sd o S i AR Tl
(4) ufEEA FEHE

Options:-

.1, Option ID :- 301,
. 2, Option ID :- 302,
. 3, Option ID :- 303,

. 4, Option ID :- 304,
Answer Given:- 3, Option ID : -303

Question ID:- 77

"Education is complete living” described by :

(1) Frobel

(2) Tagore
(3) Dewey
(4) Spenser

Treifera ® | fortem oA & foh e o sitem frafe €71

(1) hEE
(2) R
(3) =4l
(4) T
Options:-

.1, Option ID :- 305,
« 2, Option ID :- 306,
. 3, Option ID :- 307,

. 4, Option ID :- 308,
Answer Given:- 3, Option ID : -307

Question ID:- 78
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The newly proposed design of school curriculum is :
(1) 4+3+4+4

(2) 5+3+3+4

(3) 10+2+2+1

(4 5+2+3+5

Termerlt woT=E=t 1 79 yEafad ey = 8 2
(1) 4+3+4+4

(2) 5+3+3+4

(3) 10+2+2+1

(4 5+2+3+5

Options:-

.1, Option ID :- 309,

« 2, Option ID :- 310,

. 3, Option ID :- 311,

. 4, Option ID :- 312,
Answer Given:- 2, Option ID : -310

Question ID:- 79

As per RTE Act, 2009 what are the minimum working hours prescribed for a teacher in a week ?
(1) 36

(2 33
(3) 45
(4) 50

Torer =1 eAfumRR sifafm, 2009 & SR =T & fau e gwr § =Aad e el =9 fuifa
M E?

(1) 36
(2) 33
(3) 45
4) 50

Options:-

.1, Option ID :- 313,
. 2, Option ID :- 314,
. 3, Option ID :- 315,

. 4, Option ID :- 316,
Answer Given:- 1, Option ID : -313

Question ID:- 80
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The NCF 2005, suggested with reference to learning.

(1) Sports education

(2) Self-reliance and dignity of individual
(3) Inclusive education

(4) Teachers centric to child centric

T eIl s | sifim & wed # frifera | | fowen ggma fezn e an

-

(1) @ faen
(2) =Afe w1 sT-fAsiRar sik wafen (w=fhme)
(3) HHTaEi foran
(4) BT hi=d | el hf=d
Options:-

.1, Option ID :- 317,
. 2, Option ID :- 318,
. 3, Option ID :- 319,

. 4, Option ID :- 320,
Answer Given:- 4, Option ID : -320

Subject : SS_Q81-Q180_KOTGTSS
Question ID:- 81

French revolution led to :

(i) Uniform laws for all citizens within its territory
(i) Abolition of internal customs and duties

(iii) Uniform systems of weights and measure

(iv) Encouragement of regional dialects

Select the correct answer using the code given below .
Code :

(1) (i), (i) and (iii)
(2) (iv) only

(3) (iii) and (iv) only
(4) (i) only



https://aview.in/
https://aview.in/category/previous-papers/

TR hifd |

(i) SO 4R H WA 9 WY AR % A SHE #E ah
(ii) safER AraE-FaE ger gar # e

(iii) R GG FYH I T HHA TG AN H |

(iv) &I siferl =1 giedted foma

= fou T e 1 gEE R HE I g

e :

(3
Options:-

.1, Option ID :- 321,
« 2, Option ID :- 322,
« 3, Option ID :- 323,

. 4, Option ID :- 324,
Answer Given:- 1, Option ID : -321

Question ID:- 82

You are travelling to the areas which had a revolution in 1789, faced storming of Bastille and had
the first clear articulation of Nationalism. In which country are you actually travelling ?
(1) England

(2) Italy
(3) France
(4) Germany

19 e TF 2 F A0 W @ ¥ o 1789 H wifa g2 oft, forer sie = va S oii <Rl U i veel!
vy Afvefad g2 | o1 arad H Sl Sl A R TE § 2

(1) e
(2) zel
(3) wH
(4) AT
Options:-

.1, Option ID :- 325,
« 2, Option ID :- 326,
. 3, Option ID :- 327,

. 4, Option ID :- 328,
Answer Given:- 3, Option ID : -327

Question ID:- 83
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Match List I with List IT and select answer using the code given below the lists :

List I List II
(Philosophers) (Book)
(A) John Locke (i)  The spirit of the laws
(B) Jean Jacques Rousseau (i) Two treatise of Government
(C) Montesquieu (iii) Encyclopedia
(D) Denis Diderot (iv) Social Contract
(A) B © (D
@O @) Gv) (@
(2) @) @) @ @)
3 @ (v) (@) @
4) Gv) @) @ @

FR-1 iR G- 11 1 g T SR g 3 ) g T e e R g SR g

-1

Tel-11

(A) i wieh () ¢ fefe 1w g«
(B) AT STk & (i) T FIeEss S T
(C) W& (iii) STETEHATIIS!
(D) =fmE feed (iv) @IS smay
(A) B) © (D)
1 O @) @) (@)
(2) @) (@v) (@) ()
(3) @) (v) (@) ()
(4) @v) @) @ @)
Options:-

.1, Option ID :- 329,
« 2, Option ID :- 330,
. 3, Option ID :- 331,
. 4, Option ID :- 332,

Answer Given:- 2, Option ID : -330

Question ID:- 84

Think about following statements and choose the correct answer with the help of given codes.

Statement (I) :

Statement (II) :
Code :

Simon Commission was a legal commission which was brought to India to bring
economic reforms.

All the members of Simon Commission were Britishers.

(1) Both Statement (I) and Statement (II) are true

2

4

(2) Both Statement (I) and Statement (II) are false
(3) Statement (I) is true but Statement (II) is false
(4) Statement (I) is false but Statement (II) is true
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e wherl W faam &t 3iR e =1 TR R HE SR o 9 R
HAA (I) : HEEA FHHIYH Uah Jenfaer I or o vyra # fasia gum &6t fown <7 & faw amn = an
A (1) : AT FHHIYH H HL Hee IS 91

(1) =R (1) 2T e (1) <1 O& )

(2) /I (I) R HAT (1) EH AT £
(3) RY (I) TE ¥ UL A (1) e 7|
(4) HYA (I) Terd § U] R (1) HE B
Options:-

.1, Option ID :- 333,

. 2, Option ID :- 334,

. 3, Option ID :- 335,

. 4, Option ID :- 336,
Answer Given:- 4, Option ID : -336

Question ID:- 85

Consider the following statements regarding Dandi March and choose the correct answer with
the help of the code :

Statement (I) : This March was done from Dandi to Sabarmati Coast.
Statement (II) : The civil disobedience movement started with the Dandi March.
Code :

(1) Both Statement (I) and Statement (II) are correct

(2) Both Statement (I) and Statement (II) are false

(3) Statement (I) is true but Statement (II) is false

(4) Statement (I) is false but Statement (II) is true

gl Ard & e § 7 heA] W foram sl @R e i Heg | Wl 9L AT i
HYA (1) : g2 9 SISl H HEHd! 92 qeh fohan
HYF (1) : HiaTd a1 Hicler Hi YT Sl q4rd | 88 |

?i?'?:

(1) <heF (I) 3R aher (I1) <F S@ 1
(2) /I (I) R HAT (1) S AT £
(3) TR (I) HEl & Ui A (II) 7o €
(4) R (I) TTeTd & UG HYA (1) HEl 2

Options:-

.1, Option ID :- 337,
« 2, Option ID :- 338,
. 3, Option ID :- 339,

. 4, Option ID :- 340,
Answer Given:- 1, Option ID : -337

Question ID:- 86
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Below are two statements, one of them is Assertion (A) and the other is Reason (R). Find the
correct answer with the help of given codes.

Assertion (A) : Gandhiji participated in Second Round Table conference.
Reason (R) : Gandhi-Irwin Pact was done on 5 March, 1931.
Code :

(1) (A) and (R) both are true and (R) is the correct explanation of (A)
(2) (A) and (R) both are true but (R) is not the correct explanation of (A)
(3) (A)is true but (R) is false

(4) (A) is false but (R) is true

= <1 e feu T ¥ | U Y erfieRe (A) TH gEX 1 SIOT (R) FEl T € | R gU e BRI EE S| H
FAE |

srfieRer (A) @ TS A fade Tients wiem # 9rT fean

HRUT(R) : -3 Yo 5 A 1931 =1 foam

%< :

(1) sifyereR (A) 3R ST (R) S W&l € 3R (R), (A) &t T& =Imem 2
(2) SHERAT (A) 3IR HEOT (R) SH & T (R), (A) T HE AR TE B
(3) AMHUT (A) TEl & W= HIOT (R) T &1

(4) AURAT (A) TE T T HROT (R) T B

Options:-

.1, Option ID :- 341,
« 2, Option ID :- 342,
. 3, Option ID :- 343,

. 4, Option ID :- 344,
Answer Given:- 1, Option ID : -341

Question ID:- 87

Consider the following statements about Poona pact and choose the correct option.
Statement (I) : This pact was made between Mahatma Gandhi and Dr. Ambedkar in 1932.

Statement (II) : Under this pact, separate electorates were arranged for the Depressed classes in
the Provincial and Central legislative councils.

(1) Both Statement (I) and Statement (II) are true.
(2) Both Statement (I) and Statement (II) are false.
(3) Statement (I) is true but Statement (II) is false.
(4) Statement (I) is false but Statement (II) is true.
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A1 Y92 & gay | fe7 el W faam &y o) wd fasew %1 ge )
HeA (1) : T8 Yo Hawew it ofR 2. stareet % oftw 1932 H gam o
HUA (1) : TH U3 & d8d Widra e =i faurd uitus | gfed ol o fau g fHar=m 1 8w o1 51
(1) R (I) i e (I1) SHi 9el €1

(2) AU (1) W HAA (1) A Ted

(3) A (1) TE B 9T YA (1) T T

(4) U (1) T & ITG YA (1) T T

Options:-

.1, Option ID :- 345,

. 2, Option ID :- 346,

. 3, Option ID :- 347,

. 4, Option ID :- 348,
Answer Given:- 1, Option ID : -345

Question ID:- 88

Arrange the following in chronological order :

(a) Champaran Satyagraha

(b) Kheda Satyagraha

(c) Ahmedabad Cotton mill Satyagraha

(d) Mahatma Gandhi returnes to India from South Africa
Choose the correct answer from the option given below.

(1) (), (d), (0, (a)

(2) (d), (@), (b),(c)

(3) (d), (b), (@), ()

(4) (d) @, (©.,®)

Freafafea =1 Ferite w9 § st #i
(a) YA HAWE

(b) TS AT

(c) STEHRIEIE Tl IS HATE
(d) TR e R ST ¥ WG ST S
9 fou Tu fawedi § 9 98 s g |

(b),

]

d), (¢)

—

( (a)
(@), (b), (0
(b), (@), (9)
@) (), (b)

)

r]

(D)
2
3 (@,
4

4 d), (a

Options:-

.1, Option ID :- 349,
« 2, Option ID :- 350,
. 3, Option ID :- 351,
. 4, Option ID :- 352,
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Answer Given:- 2, Option ID : -350

Question ID:- 89

Consider the following statements regarding the impact of first world war on India.

(i) Itled to a huge increase in defence expenditure

(i) Through the war years prices remained stable

(iii) Indian soldiers were recruited into the army by the process of forced recruitment
Which of the following statements given below is/are correct ?

() (i) and (ii)
(2) (i) and (iii)
(3) (1) and (iii)
(4) (i) only

Yo faveayes o1 Yd W IS ad Yarei & Hew H fFefafed s w fomm wifu)
() wn=EH 9 gfE gl

(i) F& % SN TEA P B R W

(iii) STERA Hdl 1 Ufchan g0 wRd faaifeai =1 &= | e foham )

ST H ¥ HH-H/HA-H H2H FE § 2

(1) @) ¥R (i)
(2 () ¥R (i)
(3) (i) 3R (iii)
(4) A (i)

Options:-

.1, Option ID :- 353,
« 2, Option ID :- 354,
« 3, Option ID :- 355,

. 4, Option ID :- 356,
Answer Given:- 2, Option ID : -354

Question ID:- 90

Consider the following statements about colonialism in India.

Statement (I) : Each social class and group felt the effects of colonialism equally.
Statement (II) : The notion of freedom were not always the same for each class and group.
Which of the following statement given below is/are correct ?

(1) Both Statement (I) and Statement (II) are true

(2) Both Statement (I) and Statement (II) are false

(3) Statement (I) is true but Statement (II) is false

(4) Statement (I) is false but statement (II) is true
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RA H IuFEvEmR & Hed H frefafed s w faar =)

HAA () : & FIfSrs a7t 3iX TE W IUfTaEng &1 STE T SiET o |

e (I1) : Sufae fateht stidieri § s & " 82 ot iR ug & fau fim g1
IR H H HE-FU/HA-H FUT TE /8?2

(1) R (1) 2T e (1) <1 Te )
(2) /I (I) R HAT (1) S AT £
(3) TR (I) T& & UG A (1) Ted ©
(4) HYA (I) TeTd § UGG HAT (1) HE B

Options:-

.1, Option ID :- 357,
« 2, Option ID :- 358,
. 3, Option ID :- 359,

. 4, Option ID :- 360,
Answer Given:- 4, Option ID : -360

Question ID:- 91

Which of the following statements about Balkans region is/are correct ?
(i) The Balkans is a region located in nothern Europe.

(i) The inhabitants of the region are called Slavs

(iii) The region is noted for its geographical and ethnic variation.

(1) () and (i)
(2) (i) and (iii)
(3) (i)only
(4)  (iii) only

Aok 49 % Hay § Frefated s W famr w1 39 ¥ Sh-w/mn-8 e wd 82
(i) =TeHd 390 U9 H erafied 49 €

(i) 39 &9 o (Fenfea =1 T QeRRT ST o1 |

(ifl) TE & Hriifers iR S e & fag yfag o

(1) @) ¥R (i)
(2) (i) 3T (iii)
3) % (i)
(4) hae (iii)
Options:-

.1, Option ID :- 361,
. 2, Option ID :- 362,
. 3, Option ID :- 363,

. 4, Option ID :- 364,
Answer Given:- 2, Option ID : -362

Question ID:- 92
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Given below are two statements; one is labelled as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A) : European Artists in the eighteenth and nineteenth centuries portrayed nation as
male figures.

Reason (R) : Artists personified the nation in the above period.

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A)is true but (R) is false

(4) (A) is false but (R) is true

e < e fou T ¥ | U SRS (A) FEl T § IR gE I ShIROT (R) e TR
SR (A) : TeEe AR Fewel T H AT Al ¥ T TE ®9 H wEqa R
IO (R) : IR el H Herh A T FH AR fF2

IR ST A % "ol | e ° wi-w we § 2

(1) (A) 3R (R) EF W& € 9201 (R), (A) i T&l = €
(2)  (A) 3 (R) SHT HE € TG (R), (A) T HEl =@ e 7 |
(3) (A) WEl & T (R) T B

(4) (A) TeTd & 9] (R) R €

Options:-

.1, Option ID :- 365,
« 2, Option ID :- 366,
. 3, Option ID :- 367,

. 4, Option ID :- 368,
Answer Given:- 4, Option ID : -368

Question ID:- 93

Given below are two statements; one is labelled as Assertion (A) and the other is labelled as Reason
(R).

Assertion (A) : The formation of “United Kingdom of Great Britain” happened in 1707.

Reason (R) : An “Act of Union" came into effect between England and Scotland.

In the context of the above statements, which of the following is correct ?

(1) (A) and (R) both are true and (R) is the correct explanation of (A)

(2) (A) and (R) both are true but (R) is not the correct explanation of (A)

(3) (A)is true but (R) is false

(4) (A) is false but (R) is true
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= € gaaeg feu Tw ¥ 1 U 1 afieRe (A) 3R gE 1 WIUT (R) el T )
U (A) : ‘FReE fohvey oiw U2 foe’ &1 78 1707 H g

THTOT (R) : geig 3R Thiedie & W™ ‘U ifE gfem o

IR S S & ged #§ fFrefafed § m-a gd g

(A) 31 (R) ST T € IR (R), (A) I HE =0&n F=La g |

(A) ¥R (R) SF1 W& € 7T (R), (A) %1 HEl =AM & il ¥

(A) T8 & T (R) T B

(A) TeTd § W (R) HE B

Options:-
.1, Option ID :- 369,

« 2, Option ID :- 370,

Answer Given

. 3, Option ID :-
. 4, Option ID :-

371,

372,
:- 1, Option ID : -369

Question ID:- 94

Which of the following historical figures contributed to the unification of Italy:

(1)

Giuseppe Mazzini

() Cavour

(iil) Garibaldi

(iv) Louis Phillippe
Code :

1 @), 1), @)

(2) () (i), (iv)

(3) (i), (i), (iv)

(4) (@), (i), (i)

Frfafaa § 9 frg tfaefas =afa &1 9eF s2eft & THia | o1

(i) “gHY ufes
(i) =L

(iii) TRIsTEE
(iv) =8 Twfed
%< :

(D) (1), (i), ([iv)
(2) (@) (i), (iv)
(3) (i), (iii), (iv)
(4) (1) (i), (iii)
Options:-

.1, Option ID :- 373,
« 2, Option ID :- 374,
« 3, Option ID :- 375,



https://aview.in/
https://aview.in/category/previous-papers/

. 4, Option ID :- 376,
Answer Given:- 4, Option ID : -376

Question ID:- 95

Given below are two statements :

Statement (I) : Zollverein was a customs union of the German people, which was formed in
1834 at the initiative of Prussia.

Statement (II) : The aim of the Zollverein was to promote economic nationalism in Germany.
In light of the above statements, choose the correct answer from the option given below :

(1) Both Statement (I) and Statement (II) are correct

(2) Both Statement (I) and Statement (II) are incorrect

(3) Statement (I) is correct but Statement (II) is incorrect

(4) Statement (I) is incorrect but Statement (II) is correct

= &1 e feg T )

HUA () : Sicausd SHA @Ml 21 U Yok 9 o1 f59 1834 H WL =1 qee T w1t fofan 7 |
WU (II) : Sieas & TS ol e STHAT § 71 sgare ol reafed T o1

IR Al o e H i e T fawedi § 9 wé I =W S|

(1) R (1) 2% e (1) < 92 21
(2) R (I) I e (IT) SHI Terd €1
(3) THYA (I) TE ¥ UL KU (II) TTed 7|
(4) YA (I) Terd § UGG HA (1) FE 2

Options:-

.1, Option ID :- 377,
« 2, Option ID :- 378,
. 3, Option ID :- 379,

. 4, Option ID :- 380,
Answer Given:- 1, Option ID : -377

Question ID:- 96

Given below are two statements :

Statement (I) : For the new middle class, liberalism stood for the freedom for the individual and
equality of all before the law in 19" century Europe.

Statement (II) : Liberalism emphasised the concept of autocracy and clerical privileges.

In light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement (I) and Statement (II) are correct

(2) Both Statement (I) and Statement (II) are incorrect
(3) Statement (I) is correct but Statement (II) is incorrect
(4)

4)  Statement (I) is incorrect but Statement (II) is correct
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= &1 e feg T )

HA (1) : T HeEH 77 % faw 19 o |t H 209§ serae 1 Aaes o =i % fore stedt $iR e %
TgEE HH |

HY (1) : SERATE TR Irge 7R weft ovf o fagromfeerml o6t Tt 1 gemsr o)

I FeAl & Heol # A fau o foewedi | 9 wEl 3w = w

(1) e (1) 2K e (I1) SH1 9&t E)
(2) A (1) X wmeE (1) <M Terd §
(3) HUF () TE ¥ UG HAF (1) TTewd 7
(4) THY (I) T B UG e (1) HE 2

Options:-

.1, Option ID :- 381,
. 2, Option ID :- 382,
. 3, Option ID :- 383,

. 4, Option ID :- 384,
Answer Given:- 3, Option ID : -383

Question ID:- 97

Consider the following statements and choose the correct option.

Statement (I) : Revolution of July 1830 installed a constitutional monarchy in France.
Statement (II) : The Bourbon Kings had been restored to power after July 1830 revolution.
(1) Both Statement (I) and Statement (II) are true.

(2) Both Statement (I) and Statement (II) are false.

(3) Statement (I) is true but Statement (II) are false.

(4) Statement (I) is false but Statement (II) is true.

Frafafed Foe w faar Fifsw i) g8t fawey & g8 F
HAA (I) : TS 1830 i TG wifd 7 wig H HAenfer T i T 7 |
HA (II) : T 1830 1 WHE! hifd = Fa@1 TSl 1 T 1 TreAiiaa T |

(1) R (I) i e (I1) SHi 9el €1
(2) e (I) R e (1) <M TTed €1
(3) Y (I) TS T I HT (I1) T B
(4) R (1) ToTd & GG YA (1) T 2|

Options:-

.1, Option ID :- 385,
« 2, Option ID :- 386,
. 3, Option ID :- 387,

. 4, Option ID :- 388,
Answer Given:- 1, Option ID : -385

Question ID:- 98
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In which of the following cities was the Khilafat committee formed ?
(1) Calcutta

(2) Delhi

(3) Patna

(4) Bombay

Fr=afafea o forg wee o faerwa wfafa s 7e foman o ?

(1) ek
(2) Teeeit
(3) "
(4) @
Options:-

.1, Option ID :- 389,
« 2, Option ID :- 390,
. 3, Option ID :- 391,

. 4, Option ID :- 392,
Answer Given:- 1, Option ID : -389

Question ID:- 99

Consider the following pairs :

Historical Events Important Dates
(i) Convocation of Estates General 1791
(ii) France becomes a republic 1792

(iii) Napoleon got defeated at waterloo 1816
Which of the pairs given above is/are correctly matched ?

(1) (i) and (ii)

(2) (i) only
(3) (1) and (1)
(4) (i) only
Frefafea g w foar %)

( et e ) (wrecqut ferferat )
(i) TEH SR Hl STEa 1791
(i) W9 T TR ST 1792
(iii) dfeX H TUfeaA il 3R 1816
TR I H -9 Tel gHferd € 2
(D) () ¥ (i)
(2) A (i)

(3) (i) SR (i)
(4) HAA (iii)
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Options:-

.1, Option ID :- 393,
« 2, Option ID :- 394,
. 3, Option ID :- 395,

. 4, Option ID :- 396,
Answer Given:- 1, Option ID : -393

Question ID:- 100

Given below are two statements :

Statement (I) : Liberalism was some of the important political tradition of Nineteenth Century,
which opposed the uncontrolled power of dynastic rulers and advocated equality
of all religions.

Statement (II) : Liberalism opposed the privileges of great land owners and wealthy
factory owners.

In the light of above statements. Choose the correct answer from the option given below.
(1) Both Statement (I) and Statement (II) are true
(2) Both Statement (I) and Statement (II) are false
(3) Statement (I) is true, but Statement (II) is false
(4) Statement (I) is false, but Statement (II) is true

= 2 e feu T )

HYA (I) : SERATE IeATHE! eATEE! o Heeaqui Tsiifaeh TLauet o Ueh o1 Fe 591 e wree =asn
forr fopar qen 9ol ol o |eEal 1 SeRTerd i |

HUF (11) : SSRATE 5 THCRI IR Fu=1 Serafadi &1 g forddt off T3 o fasrofeeni & faems o |

IYLeRT FYAl ok Heie | = fu gu foresredl § § wel 3T o1 g |

(1) e (1) 2K e (I1) SH1 9&t E)
(2) A (1) X wmeE (1) <M Terd §
(3) HUF (1) TE ¥ I HAF (1) e 7
(4) SHY (I) T B UG e (1) HE 2

Options:-

.1, Option ID :- 397,
. 2, Option ID :- 398,
. 3, Option ID :- 399,

. 4, Option ID :- 400,
Answer Given:- 1, Option ID : -397

Question ID:- 101
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Think about the following statements related to Non-Cooperation Movement and choose the correct
answer from given options.

Statement (I) : This was the first movement for attaining Swaraj (Self-rule).
Statement (II) : This movement opposed Khilafat Movement.
(1) Both Statement (I) and Statement (II) are true.

(2) Both Statement (I) and Statement (II) are false.
(3) Statement (I) is true, but Statement (II) is false.
(4) Statement (I) is false, but Statement (II) is true.

SR AR o Hay # frefafad swerl W fa=am & w = feu 1 famedi & w98 3w g
HYA (1) : T TS I Y LTI TS SAerer ol |
HUA (I1) : 39 siere A faersa =1 faay fean

(1) e (1) 2R e (1) SF1 T& €1
(2) e (I) i e (1) SF TTed )
(3) YA (I) TE T UG HEA (I1) T B
(4) YA (I) TTd & TTG WA (11) T

Options:-

.1, Option ID :- 401,
« 2, Option ID :- 402,
« 3, Option ID :- 403,

. 4, Option ID :- 404,
Answer Given:- 3, Option ID : -403

Question ID:- 102

Consider the following statements about Maasai communities and select the correct answer using
the code below :

Statement (I) : Maasai are traditionally nomadic and pastoral people.

Statement (II) : They live primarily in west Africa with high rainfall.

(1) Both Statement (I) and Statement (II) are true.

(2) Both Statement (I) and Statement (II) are false.
(3) Statement (I) is true, but Statement (II) is false.
(4) Statement (I) is false, but Statement (II) is true.

T e % G H e e ol ufeu oiR i fTu T e s e 9 TEl S g
Y (I) : TEE WRAT ®9 9 g 3R IRaws 995E B

He (I1) : F8 U= TRt o s1feres ol aet & # T § 1

(1) e (1) 2% e (1) SF1 98 1

(2) e (I) R e (1) <M TTed €1

(3) HEA (1) TE T U HAF (I1) T T

(4) YA (I) T & TEG WA (1) T T
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Options:-

.1, Option ID :- 405,
. 2, Option ID :- 406,
. 3, Option ID :- 407,

. 4, Option ID :- 408,
Answer Given:- 3, Option ID : -407

Question ID:- 103

Consider the following statements about socialist society and select the correct answer using the
code below.

(i) It promotes nationalization of banks and Industries.
(ii) It believes in centralised planning.
(iii) It promotes private property and profits.

(1) y (i) is true

(2) Onlv (i) and (ii) are true
(3) Only (iii) is true

(4) (1), (i) and (iii) are true

HTSETS §HS & Hay § fefatad wee ) e i we e R $2 % v R wE s g
(i) a8 SRt IR ST F TLTHHTO B erE T F |

(i) I8 Feipa Fem o favam B

(iii) =8 it Hafa i g <1 sgran S €1

(1) & (i) Hﬁ%l
(2) Fad (i) AR (i) TE T
(3) A (iii) H@"r%‘l
(4) (), (i) 3 (iii) T T

Options:-

.1, Option ID :- 409,
. 2, Option ID :- 410,
. 3, Option ID :- 411,

. 4, Option ID :- 412,
Answer Given:- 4, Option ID : -412

Question ID:- 104

The river Indrawati flows east to west. Maria, Dhurwas and Halbas communities live here. The
central part is a plateau and to its south is the Godavari plain. The name of the place is :

(1) Bastar

(2) Nagpur

(3) Raipur

(4) RajnandGaon
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TETEl el 39 4 % W § ufe aedl ¥ | el Afte, e, gt o1fe e e ae e i E
TOF FET I e £ R eRm A Tt e i da m Am B .

(1) =&R

(2) TR
(3) T
(4) TSHS
Options:-

.1, Option ID :- 413,
414,

415,

416,
4, Option ID : -416

. 2, Option ID :-
. 3, Option ID :-

. 4, Option ID :-
Answer Given:-

Question ID:- 105

Who among the following was/were socialist thinker
() Robert Owen

(i) Louis Blanc

(iii) Friedrich Engels

(iv) Adam Smith

Select the correct answer using the code given :

Answer Given:-

(1) (1), (i1) and (iii)
(2) (i) and (w) only
(3) (i), (i) and (iv)
(4) (i) only
Frefafea § 2 gomEr fa=ms 92
() & HEA
(i) T AR
(iii) Wi e
(iv) TeH fo
9 feu T e 1 gErT F HE W g
(1) (i) (if) 3R (iii)
(2) e (iii) 3 (iv)
(3) (), (i) 3R (iv)
(4) e (iii)
Options:-
.1, Option ID :- 417,
« 2, Option ID :- 418,
. 3, Option ID :- 419,
. 4, Option ID :- 420,

3, Option ID : -419
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Question ID:- 106

The Consumer Protection Act 1986 ensures following rights to consumers in India.
(1) Right to choice

(i) Right to safety

(i) Right to equality

(iv) Right to privacy

(1) (i) and (ii)
(2) (i) and (iii
(3) (i) and (iv)
(4) (1) and (iv)

iR gren siffagm, 1986 A SusiEmel #1 fe saifusr yer e €
(i) = 1 AR
(i) &I T AR
(iii) T T AfERR
(iv) T = sAfeesr

(1) (i) @R (i)
(2) (i) ¥R (iii)
(3) (i) 3R (iv)
(4) () 3 (i)
Options:-

.1, Option ID :- 421,
« 2, Option ID :- 422,
. 3, Option ID :- 423,

. 4, Option ID :- 424,
Answer Given:- 1, Option ID : -421

Question ID:- 107

Markets will not work in a fair manner if :

(1) Producers are many

(2) Producers are not powerful

(3) Consumers purchase in small amount
(4) True information is passed to consumers

R 3fed Tl | & 78w, A
(1) 3R e 8 21

(2) ScReF wiekreme @l 2rd |

(3) U HH HE H WG R ¢
(4) TR SRR U I < S 2

Options:-
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.1, Option ID :- 425,
. 2, Option ID :- 426,
. 3, Option ID :- 427,

. 4, Option ID :- 428,
Answer Given:- 1, Option ID : -425

Question ID:- 108

Given below are two statements. Choose the correct option from below :

Statement (I) : MNCs have been a major force in the globalisation process connecting distant
regions of the world.

Statement (II) : Integration of production and integration of markets is a key idea behind
understanding the process of globalisation and its impact.

(1) Both Statement (I) and Statement (II) are true
(2) Both Statement (I) and Statement (II) are false
(3) Statement (I) is true but Statement (II) is false
(4) Statement (I) is false but Statement (II) is true

19 &1 o fouw Mo ¥ T feu T el § wE famew = wEE o

wmIA (1) : fova & gwe il 1 Sierarel Svdm w1 ufma § sgusia HufEl o ge ot 2

TR (I1) : ST i YHRAT TS S8k UGl 1 THSH o TS ol Uehiahol iR STSIR o Tehiehol U
HEqUl YR |

(1) <M (1) 3R e (1) A1 921 €
(2) RYUA (I) 3w (I1) SHI Tord & |
(3) TR (I) HEl & T HA (II) TTerd & |
(4) I (1) TG § UG HYA (1) FE R
Options:-

.1, Option ID :- 429,

« 2, Option ID :- 430,

. 3, Option ID :- 431,

. 4, Option ID :- 432,
Answer Given:- 3, Option ID : -431

Question ID:- 109

Given below are two statements. Choose the correct option from below :
Statement (I) : The Reserve Bank of India supervises the functioning of formal sources of loans.

Statement (II) : Compared to the informal lenders, most of the formal lenders charge a much
higher interest on loans.

(1) Both Statement (I) and Statement (II) are true
(2) Both Statement (I) and Statement (II) are false
(3) Statement (I) is true but Statement (II) is false
(4) Statement (I) is false but Statement (II) is true
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1 &1 oA feu o § 1 A few e asaed 9 | wet fase @ w6

WY (1) : W fisd S B0l % st Skl ! HEYUel T TSR W6 |

e (I1) : Sro=nfiss HoRmaisti S g § SR &= & SAGAT BUIEKd Hel e = aga Fid
g

(1) =R (1) R e (1) 2 w2 €
(2) e (I) R weM (1) SFi Tord 2 |
(3) R (I) HEl & T HeA (II) Terd € |
(4) YA (1) TG § LG HYA (1) TE T

Options:-

.1, Option ID :- 433,
« 2, Option ID :- 434,
. 3, Option ID :- 435,

. 4, Option ID :- 436,
Answer Given:- 1, Option ID : -433

Question ID:- 110

Given below are two statements. Choose the correct option :

Statement (I) : Collateral is an asset that the borrower owns (such as land, building, vehicle,
livestocks, deposits with banks) and uses this as a guarantee to a lender until the
loan is repaid.

Statement (II) : If the borrower fails to repay the loan, the lender has the right to sell the asset or
collateral to obtain payment.

(1) Both Statement (I) and Statement (II) are true
(2) Both Statement (I) and Statement (II) are false
(3) Statement (I) is true but Statement (II) is false
(4) Statement (I) is false but Statement (II) is true

= <1 e fay T 7 | wE fased =1 =
HYA (1) : FHeE HonaR W Hufw ¢, o wferes wsier € (S f - yff, awa, e, oy, S 8 gsi)
3T SHEHT TEIHTE 9% SHRET 1 TSl 7 o ©9 H ol €, Siel do Tob 601 31 ST &l ol STl |

HY (I1) : Afc FsioR SR AT9H &l L 9Idl, d SHEETA! Sl YFaH Wi o fore wufa =1 w9efs mmar
S T SR B B

(1) Y (1) 3R swed (1) <F W&t €1
(2) e (I) 3R we (1) <M Tad €1
(3) R (I) W& T UL KU (1) oA € |
(4) YT (I) TAd § Tg R (1) T E

Options:-

.1, Option ID :- 437,
. 2, Option ID :- 438,
. 3, Option ID :- 439,

. 4, Option ID :- 440,
Answer Given:- 1, Option ID : -437
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Question ID:- 111

Given below are two statements, One is labelled as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A) : Modern currency is accepted as a medium of exchange.

Reason (R) : It is accepted as a meduim of exchange because the currency is authorised by the
government of the country.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A).

(2) Both (A) and (R) are correct, but (R) is not the correct explanation of (A).
(3)  (A) is correct but (R) is not correct.
(4)

4)  (A) is not correct but (R) is correct.

= &1 we fou u E, e w6 efbreRe (A) 3R gE Y wIT (R) R TR

afireRer (A) : yfTe ge1 #1 faf & A % w9 § wien e o 2

wOT(R) : 39 fafmoa 1 mom safae @iwr fFn s 8, #ife fm o o ar o8 wiftsa
EaGii

ITE FHUF F e § A QU T fawedl § H ey SugeE I A = it |

(1) (A) @R (R) S =& € 31 (R), (A) I TE =S Il 8

(2) (A) 3 (R) EHT TET § LG (R), (A) T HEl =AM TE B 2|

(3) (A) U8 & 9 (R) 7o B

(4) (A) TEd & U (R) T R

Options:-

.1, Option ID :- 441,

« 2, Option ID :- 442,

. 3, Option ID :- 443,

. 4, Option ID :- 444,
Answer Given:- 1, Option ID : -441

Question ID:- 112

Given below are two statements about modern forms of money. Read them carefully and choose
the correct answer from given options :

Statement (I) : It is not made up of precious metals.
Statement (II) : It is of use on its own.

(1) Both Statement (I) and Statement (II) are true

(2) Both Statement (I) and Statement (II) are false
(3) Statement (I) is true but Statement (II) is false

(4) Statement (I) is false but Statement (II) is true
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1= rfer Hg1 o Het H €1 e U e § 1 3 v 9 ue iR fou gy faskedi § | wEl o g il
T (I) : 8 Iged =gl 9 el a1 el |
HUA (1) : T8 T A9 H I i Bl 2 |

(1) e (1) 31R e (1) 391 98 €
(2) e (1) T e (11) M ot 2 |
(3) HYT (1) TE B UL YA (1) Terd |
(4) HYF (1) TG & TG HYA (1) FE 7

Options:-

.1, Option ID :- 445,
. 2, Option ID :- 446,
. 3, Option ID :- 447,

. 4, Option ID :- 448,
Answer Given:- 3, Option ID : -447

Question ID:- 113

Given below are two statements, one is labelled as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A) : A large number of workers are forced to enter the unorganised sector jobs.

Reason (R) : The employment opportunities in the organised sector have been expanding very
slowly.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A)

(3) (A)is true but (R) is false

(4) (A) is false but (R) is true

9 &1 oA for Tu R 1w ol sifireRe (A) TR TE 1 SIOT (R) e g

sifireRe (A) : =2 T § gfyenl i swnfed & @i Al § S % fow weien o s #)
WHOT (R) :  Hfed &3 § USHIR & oTaw agd -+ 9 | €|

ST HYA o STaih | e feu T fashedi § | Tel I w1 =9 Hi|

(1) (A) 3R (R) 21 9@l 2 3R (R), (A) I H&l = 2 |
(2) (A) ¥R (R) SH T § 9L (R), (A) T TEl AR TE HE T
(3) (A) WEl & T (R) T B

(4) (A) TeTd & 9% (R) R €

Options:-

.1, Option ID :- 449,
« 2, Option ID :- 450,
. 3, Option ID :- 451,

. 4, Option ID :- 452,
Answer Given:- 2, Option ID : -450

Question ID:- 114
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Arrange the sectors in descending order in its contribution to the GDP.
(i) Primary sector

(i) Secondary sector

(iii) Tertiary sector

(1) Primary>Secondary>Tertiary
(2) Secondary>Primary>Tertiary
(3) Secondary>Tertiary>Primary
(4) Tertiary>Secondary>Primary

&Rl o Hehel BLe] ICUE H $7h ANTEM o SATER HaUe! e § Hefeed i :
() wefhe aEew

(i) fedras &=

i) e

it > fgadtas > garaes
g > mafas > geEs
et > g > wefas
o > fgdias > yefas
Options:-

.1, Option ID :- 453,

. 2, Option ID :- 454,

. 3, Option ID :- 455,

. 4, Option ID :- 456,
Answer Given:- 4, Option ID : -456

—

—

(
(2
3

(4

——

)
)
)
)

Question ID:- 115

Given below are two statements :

Statement (I) : The activities in tertiary sector help in the development of the Primary and
Secondary sectors.

Statement (II) : These activities, by themselves, do not produce goods but they are an aid or a
support to the production process.

In light of the above statements, choose the correct answer from the options given below :
(1) Both Statement (I) and Statement (II) are true
(2) Both Statement (I) and Statement (II) are false
(3) Statement (I) is true but Statement (II) is false
(4) Statement (I) is false but Statement (II) is true
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g YT far U

WY (1) : FAFH &5 i ararar mafas iR fdoes & % fawm § mee # g

A (1) : ¥ Tfafafery @a: aegsl 1 3eaea 76 Fd ¢, afcsh Scaea-fwran § Tedn a1 7 T 8 |
IR FF F e § 4 U T fawedl § § g6 S 1 = Sl

(1) Y (1) iR e (1) < T )
(2) e (I) ¥R e (11) <Fi Tord £
(3) U (I) T ¥ UL e (II) TTAd
(4) AT (I) Teid § T HAT (1) FEl B

Options:-

.1, Option ID :- 457,
« 2, Option ID :- 458,
. 3, Option ID :- 459,

. 4, Option ID :- 460,
Answer Given:- 1, Option ID : -457

Question ID:- 116

Human Development Report is Published by :

(1) UNDP (United Nation Development Programme)
(2) WTO ( World Trade Organisation)

(3) WHO (World Health Organisation)

(4) World Bank

e faem fde g eI o i @
(1) GgFa T fawm weFd (FuAEi)

(2) forea =R BT (e A E.)

(3) Torvs wWRea 9eA (S TA.H1)

(4) fava d=
Options:-

.1, Option ID :- 461,
. 2, Option ID :- 462,
. 3, Option ID :- 463,

. 4, Option ID :- 464,
Answer Given:- 1, Option ID : -461

Question ID:- 117
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Given below are two statements, one is labelled as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A) : Kerala has a low Infant Mortality Rate.

Reason (R) : Kerala has a adequate provision of basic health and educational facilities.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both statement Assertion (A) and Reason (R) are true but (R) is not the correct explanation
of (A)

(3) Assertion (A) is true but Reason (R) is false

(4) Assertion (A) is false but Reason (R) is true

= € e feu U E | w1 SifueRed (A) TR gE 1 RIT (R) R R €
sifvreRe (A) @ T § forg] gy S FH B

WIOT (R) : o § g e i dferss gfawnsii 1 uard yeEem €1
ST HYA o STaih | e feu T fashedi § 9 TE W =9EE Hi|

(1) (A) 3R (R) 21 9@l 2 3R (R), (A) I Hel A 2 |
(2) (A) ¥R (R) SH T&l ¥ 93 (R), (A) F1 T& = & L §1
(3) (A) W& & T (R) T B

(4)

4) (A) TETd § 9 (R) WE B

Options:-

.1, Option ID :- 465,
. 2, Option ID :- 466,
. 3, Option ID :- 467,

. 4, Option ID :- 468,
Answer Given:- 1, Option ID : -465

Question ID:- 118

Given below are two statements, one is labelled as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A) : When we produce goods by exploiting natural resources, it is an activity of the
primary sector.
Reason (R) : This is because it forms the base for all other products that we subsequently make.

In light of the above statements, choose the correct answer from the options given below :
) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)

(3) (A)is true but (R) is false

(4)  (A) is false but (R) is true

_—
ey
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9 &1 FoA fer T R, fAH & uw #1 aifueRe (A) 3T TE % RO (R) el TR B
SRR (A) : S B9 Uihfash HETeHEl 1 S itk foRHl a5 1 3¢S Hd © ol 98 WA &5 ) s

nifafafy g &1

WHHOT (R) : UG 3U(aT 8 i1 98 2R g1 o1E H oHIT S o1et 271 Geft Serei o o Sarerm s & |
ST FUF & s § A4 f5u U famedl | 9 981 3w F1 =9 Fie

(1) (A) ¥R (R) 31 ¥& g 3R (R), (A) FI T AR 2 |
(2) (A) 3R (R) SHi &l € 3iR (R), (A) F W =0 7 H B
(3) (A) HEI 8 &R (R) e B

(4) (A) Td € ¥R (R) §E 2

Options:-

.1, Option ID :- 469,
. 2, Option ID :- 470,
. 3, Option ID :- 471,

. 4, Option ID :- 472,
Answer Given:- 1, Option ID : -469

N

3

(
(
(
(4

Question ID:- 119

Given below are two statements about Subsidy. Choose the correct option from below.
Statement (I) : It is a payment that a government makes to a producer to supplement the market

price of a commodity.

Statement (II) : It can keep consumer price low while maintaining a lower income for domestic

producers.
Both statement (I) and Statement (II) are true
Both statement (I) and Statement (II) are false
Statement (I) is true but Statement (1I) is false
Statement (I) is false but Statement (II) is true

werten! & s § aeked fou Y € $7H 9 Wl faehed 1 = o
WA (I) : TE T8 JEH & S WHER g FHE S 9 Fmd i eyl % fo e e #
HAA (I1) : 7T BT IR o fae FH o 1 T@d gU, SUE SiHal &l ®H 7@ Fahal g |

(1) e (1) 31R e (1) < 98 €1

(2) e (I) i e (1) <Fi Terd )
(3) e (1) W& § ifehd e (I1) Terd 2
(4) U (1) T ¢ AfRA HEA (1) T 7
Options:-

.1, Option ID :- 473,
. 2, Option ID :- 474,
. 3, Option ID :- 475,

. 4, Option ID :- 476,
Answer Given:- 4, Option ID : -476

Question ID:- 120
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Minimum Support Price (MSP) is declared by the government before the sowing season.
(1) every year

(2) every 5 years
(3) every 10 years
(4) every 15 years
JAqH HHfHd g (TH.UE L) FERR B T & HEH I g =i F S 8 )
(1) =HA
(2) U g
(3) B EHd Wi
(4) e vged @e
Options:-

.1, Option ID :- 477,
. 2, Option ID :- 478,
. 3, Option ID :- 479,

. 4, Option ID :- 480,
Answer Given:- 1, Option ID : -477

Question ID:- 121

Given below are two statements and choose the correct answer from the given options :
Statement (I) : Seasonal hunger is related to cycles of food growing and harvesting.
Statement (II) : Seasonal hunger is prevalent only in urban areas.

(1) Both statement (I) and Statement (II) are true

(2) Both statement (I) and Statement (II) are false

(3) Statement (I) is true but Statement (II) is false

(4) Statement (I) is false but Statement (II) is true

== &1 oA fou u § #IR fu gu famedl § | Sl I &1 =99 |
HYF () : HEH I FHA ST SR FEH F =Th F H6E T
HAA (I1) : HrEH Yl Fae el & J gt T

(1) e (1) 31R e (1) < 98t €1
(2) e (1) R e (1) <Fi Terd )
(3) U (I) W T UL HAA (II) TTeAd 2 |
(4) RYF (1) TG & TG HAF (1) T T

Options:-

.1, Option ID :- 481,
« 2, Option ID :- 482,
. 3, Option ID :- 483,

. 4, Option ID :- 484,
Answer Given:- 3, Option ID : -483
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Question ID:- 122

Food security means :

(1) availability and accessibility of food to all people at all times

(2) availability and affordability of food to all people at all times

(3) accessibility and affordability of food to all people at all times

(4) accessibility, affordability and availability of food to all people at all times
T e 1 37 ¥

(1) 9sft il o for W sfreH 1 3Tersa o) 1gT |

(2) |l & fTu Heg AISH 1 Il AR 3H YT HTH 1 |qHe |

(3) Tl wnii & forw gda s it vg iR SH wa w5 g |

(4) @it il o fore wea s it e, g oK W e 1 | |
Options:-

.1, Option ID :- 485,
« 2, Option ID :- 486,
. 3, Option ID :- 487,

. 4, Option ID :- 488,
Answer Given:- 4, Option ID : -488

Question ID:- 123

Read the following statements carefully and choose the correct answer :
Statement (I) : Mahatma Gandhi always insisted that india would be truly independent only

when the poorest of its people become free of human suffering.

Statement (II) : The aim of Swarnajayanti Gram Swarozgar Yojana is to bring the assisted poor

P e s B T
g

families above the poverty line by organizing them into self help groups through
a mix of bank credit and government subsidy.

Both Statement (I) and Statement (II) are true
Both Statement (I) and Statement (II) are false
Statement (I) is true but Statement (II) is false
Statement (I) is false but Statement (II) is true

freafafad FeAl &1 SYE® YgH 399 H Hal 3T H T H |
HY (1) : TR T TN 78 W e femn a & fr vra wE el § qeft o= 2 s 7wl 5 el faee

ok oft HFET =1 | W & |

HYT (1) : WO S U SR AT 1 389 HerEdl yrd e afear) #t @-wee el § wfed

(D)
(2)
(3)
(4)

S B S FHEH TRl & GAE gN e W@ 8 S aE g

HYA (1) 3R HAF (1) < 9 F |
R (I) 3T R (1) T T & |
HYA () T 7 Al e (1) T4 2
HIA (1) T T TR e (1) T2 2|

Options:-
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.1, Option ID :- 489,
. 2, Option ID :- 490,
. 3, Option ID :- 491,

. 4, Option ID :- 492,
Answer Given:- 1, Option ID : -489

Question ID:- 124

Given below are two statements : one of them is Assertion (A) and the other is Reason (R). which
of the following is true in the context of these statements.

Assertion (A) : Vulnerability to poverty is a measure, which describes the greater probability of
certain communities (say, members of backward caste) or individuals (such as
widow or a physically handicapped person) of becoming or remaining poor in
the coming year.

Reason (R) : Vulnerability is defined by the option available to different communities for finding
alternative living in terms of assets, education, health and job opportunities.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) (A) and (R) both are true and (R) is the correct explanation of (A)

(2) (A) and (R) both are true but (R) is not the correct explanation of (A)
(3)  (A) is true but (R) is false

(4) (A) is false but (R) is true

9 € e feu U ¥ | w1 sifieRed (A) 3R gE 1 RIT (R) R T €

<1 Fae & ded | frefafes § § wH-w wd §2

fueRerd (A) : e & gfd ergeen us =g B S o favm gyerEl (519 fhd Ut sifa & seea) =0
AfarEl (319 g favan 71 IR w9 9 fasaim safa) & omet a6t ° fe7 20 o fae
o T 1 3ifereh e S © |

IO (R) : st = Frufo aftfeafasi, foen, ey oIk ISP & stasd & &9 § Sifas @eH &
fore fafvm Tgerl & g Suersy faskedi 9 2 & |

(1) (A) 3R (R) SHI G&t & @01 (R), (A) it HEl RSN Ll |
(2) (A) ¥R (R) EF |E & a1 (R), (A) T TE IRE TE I ¥
(3) (A) &l & ©ifehT (R) Terd B

(4) (A) 7Te@ € @fF (R) FE

Options:-

.1, Option ID :- 493,
. 2, Option ID :- 494,
. 3, Option ID :- 495,

. 4, Option ID :- 496,
Answer Given:- 1, Option ID : -493

Question ID:- 125
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Read the following statements and choose the correct answer from the code given below :
(i) Unemployment leads to wastage of manpower resource

(i) Unemployment leads to proper utilisation of manpower resource
(iii) Unemployment tends to increase in economic overload

(iv) Unemployment tends to decrease in economic overload

Code :

(1) (i) and (ii)

(2) (i) and (iii)

(3) (1) and (iii)

(4) (i) and (iv)

frefafad Hert #1 9¢ iR 9= feu Tu 2 § 4 et Fer/FmeAl w1 =71
() SUSTR | SR HaneE s SeiEt @ 2

(i)  SUSTIRT SRR Gy % SfEd 3w #i 2R @ S
(iii) SRR ¥ st s § g9fg et
(

)
iv) SSPTRY 9 enifefer der ® i St 7
%< :
(1) () ST (i)
(2) (i) 3R (iid)
(3) (i) 3 (i)
(4) (iif) 3R (iv)
Options:-
.1, Option ID :- 497,
. 2, Option ID :- 498,
. 3, Option ID :- 499,
. 4, Option ID :- 500,

Answer Given:-

2, Option ID : -498

Question ID:- 126

The nature of unemployment in rural areas are mostly :
() Educated unemployment

(ii) Seasonal unemployment
(iii) Disguised unemplbyment
Code :

(1) (i) only

(2) (i), (iii) only

(3) (i) only

(4) (iii) only
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TTEOT & H SIS WeRfd e Bl € ¢

() Toferd s
(i) TR SRS
(iii) =5 SRISHTRI
(1) e (i)

(2) e (if) SR (i)
(3) I (ii)

(4) Faa (iii)
Options:-

.1, Option ID :- 501,
« 2, Option ID :- 502,
. 3, Option ID :- 503,

. 4, Option ID :- 504,
Answer Given:- 2, Option ID : -502

Question ID:- 127

The quality of population depends upon :

(1) Literacy rate
(i) Life expectancy
(iii) Skill formation

(1) only (i)
(2) (i) and (iii) only
(3) (i) and (ii) only
(4)  only (i)

(i)  SfeH Femen 9
(iii) e o TR
%< :

(1) e (i)

(2) A (if) 3R (iii)
(3) o (i) R (ii)
(4) o (i)
Options:-

.1, Option ID :- 505,
« 2, Option ID :- 506,
. 3, Option ID :- 507,

. 4, Option ID :- 508,
Answer Given:- 3, Option ID : -507
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Question ID:- 128

Given below are two statements. One of them is Assertion (A) and the other is Reason (R). Which
of the following is true in the context of below statements ?

Assertion (A) : Countries like Japan have plenty of natural resources. By the use of these, it became
a developed nation.

Reason (R) : Japan invested on people, especially in the field of education and health. Efficiency
and the technology evolved by people have made Japan developed.

(1) (A) and (R) both are true and (R) is the correct explanation of (A).

(2)  (A) and (R) both are true but (R) is not the correct explanation of (A).
(3)  (A) is true but (R) is false.

(4) (A) is false but (R) is true.

9 <1 gae few 7w ¥ 1 us 1 iIeR e (A) 3R TE 1 RIROT (R) el T ® | ST Sl aeaed & Hey

H frefofed # wF-w 9 872

rfeRe (A) @ STYH S 291 3 FSEeh ar wiesfaes SEmer w= wmen § o | fsren wEr o o faesfad <u
Exlll

WHRUT (R) :  S9F A 39 fareai § fav w9 9 faan siw @ & a7 9 faw o =3 &mi 3 s
Fererdl SR it fasiaa & 36t § S fasfad s

(1) (A) @R (R) SHi T&l & 9901 (R), (A) I T IR I |
(2) (A) 3R (R) SHI TEl € T (R), (A) FI Gt =R Tl HLA
(3) (A) T ¥ 3 (R) TTed B

(4) (A) TeTd & 3R (R) HEl 1

Options:-

.1, Option ID :- 509,
« 2, Option ID :- 510,
. 3, Option ID :- 511,

. 4, Option ID :- 512,
Answer Given:- 4, Option ID : -512

Question ID:- 129

Given below are two statements. Choose the correct answer from given options.

Statement (I) : The Green Revolution in the late 1960s introduced the Indian farmer to cultivation
of wheat and rice using High Yielding Varieties (HYVs) of seeds.

Statement (II) : HYV seeds needed plenty of water and also chemical fertilizers and pesticides to
produce best results.

(1) Both Statement (I) and Statement (II) are true
(2) Both Statement (I) and Statement (II) are false
(3) Statement (I) is true but Statement (II) is false
(4) Statement (I) is false but Statement (II) is true
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=1 g1 e few e €)1 feu gu fosredi © & 9@ W F gAE FX
A () : 1960 % B9 o 37d § g hifd 7 YRd forami =1 Afus 3091 o &Sl (Ta.aE.at. ) & gr
g 3R FEe it Gl HH o qii fqEm|

HUT (1) : siferss 3us yenfadi arel sirsil | STfeeras Sust UM o few agd samer ot qen TEmEfie arg it
TSGR i STET ot |

(1) Y (1) 3R s (1) <F w2t €1
(2) e (I) 3R we (1) <M Tad €1
(3) R (I) & T UL HYA (1) oA € |
(4) YT (I) TAd § Tg HYT (1) T E

Options:-

.1, Option ID :- 513,
. 2, Option ID :- 514,
. 3, Option ID :- 515,

. 4, Option ID :- 516,
Answer Given:- 1, Option ID : -513

Question ID:- 130

Given below are two statements. One of them is Assertion (A) and the other is Reason (R). Choose
the correct answer from given options.

Assertion (A) : Currency is accepted as a medium of exchange in the country.
Reason (R) :  Currency is authorised by the people of the country.

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)

(3) (A) is true but (R) is false

(4) (A) is false but (R) is true

= <1 e fou T ¥, 378 § U w1 iR (A) IR SE 1 ®IOT (R) e T R | e e faened | 9
Tl 3T T HL |

arfireRer (A) : i 1 fafma F mory F w9 9 <9 § s T s €

WIRUT (R) :  hidl fomell 291 o1 ST g1 WIferhd Rt STl 2 |

(1) (A) 3R (R) S T& € 3R (R), (A) ! HE =A@ FH ¢ |
(2) (A) ¥R (R) S T& ¥ T (R), (A) ) WEl = T H
(3) (A) HE ? W (R) TeId B

(4) (A) ETd € T (R) HE R

Options:-

.1, Option ID :- 517,

« 2, Option ID :- 518,

. 3, Option ID :- 519,

. 4, Option ID :- 520,
Answer Given:- 3, Option ID : -519

Question ID:- 131
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Why has the Indian ocean been named after India ?

(1) because Indians discovered it.

(2) because it is near to India.

(3) because no other country has a long coastline on it.
(4)

4)  because British named it after India when they colonized India.

& TR &1 M YR o 19 9 = T 79 ?
(1) =i YTl o 39! Gl &l |

(2) =Hifer 98 IR T 2
(3) iR T TR H R off <u i a9 Emn vRd S A 2
(4) iR SIS A 9 YA 1 AT UMY ST A1 THeH! A1 WA & A1 W @ fea

Options:-

.1, Option ID :- 521,
. 2, Option ID :- 522,
. 3, Option ID :- 523,

. 4, Option ID :- 524,
Answer Given:- 4, Option ID : -524

Question ID:- 132

The Latitudinal extent influences the duration of day and night as one moves from
(1) North to South

(2) South to North
(3) West to East
(4) East to West
I T JIE e &R T =t eafy 9 =@ ©)
(1) S H aferor =t 3R
(2) = § W S
(3) Ufva" ¥ 94 Hl 3R
(4) Y& H U= H AR
Options:-

.1, Option ID :- 525,
. 2, Option ID :- 526,
. 3, Option ID :- 527,

. 4, Option ID :- 528,
Answer Given:- 3, Option ID : -527

Question ID:- 133
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If the sun rises in Arunachal Pradesh at 4.00 A.M. then when will sun rise happen in Gujarat ?
(1) Approximately at 5:00 A.M.

(2) Approximately at 6:00 A.M.

(3) At the same time, i.e. 4.00 A.M.

(4) Approximately at 3:50 A.M.

IR STEMEA Ya¥l H Goe 4 o9 GIST Sa1 § ol Tord H FTs] ol 3 2
(1) N gaIg 5 a1

(2) T GIIE 6 TS

(3) IH T 4iq g8 4 S

(4) T AT 3:50 oS
Options:-

.1, Option ID :- 529,
. 2, Option ID :- 530,
. 3, Option ID :- 531,

. 4, Option ID :- 532,
Answer Given:- 2, Option ID : -530

Question ID:- 134

A person was travelling to different parts of India and he/she shared that he/she firstly visited
youthful topography of India having high peaks and deep valleys and then he/she moved to
ancient landmass of India having rising hills and wide valleys.

Which places has the person visited ?

(1) Karnataka and Jammu Kashmir
(2) Jammu Kashmir and Andamans
(3) Meghalaya and Rajasthan

(4) Andamans and Karnataka

e ATkl YR 2k farfst il H a0 o 1@ 9 SIS ol o 3=iH Yeet YR sl Za T & a6
forer S fora @ el wnfeal € SR S 91 & 9YRA o YW 99T skt ek e fore m S wafeai v
=St ;e €

32 fFg-forg o =t 9w #i 2
(1) e IR 50 FHIER

(2) S HER 3R FgHA

(3) HeeT S e

(4) oiEHM S FAleH
Options:-

.1, Option ID :- 533,
« 2, Option ID :- 534,
. 3, Option ID :- 535,

. 4, Option ID :- 536,
Answer Given:- 1, Option ID : -533
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Question ID:- 135

Match the following :
Region of Northern Plain

Features

(A) Bhabar (i) Wet, swampy and marshy region
(B) Terai (ii) Region having calcerous deposits
(C) Bhangar (iii) Region of disappearance of streams
(D) Khadar (iv) Younger deposits of floodplains
(A) (B (© (D)
M @ @ @) @Gw)
(2) (@) @ @ (v)
3 (v) (@) @ @
4 @ @) Gv) @
Toyer =
LR R R ] fergroramg
(A) MR () | F sl &
(B) W& (i) Fer FEg arel g 1 &5
(C) 9 (iii) ARt < fadw & =1 &3
(D) @Y (iv) ga1 F&di 9T 9 A JeHi 6 A
(A) B (©) (D)
(H @ @ ) (i)
2 @) @H @ (Qv)
(3 @v) @) @) @
@) @ (@) @) (i)
Options:-
.1, Option ID :- 537,
. 2, Option ID :- 538,
. 3, Option ID :- 539,
. 4, Option ID :- 540,

Answer Given

:- 2, Option ID : -538

Question ID:-

136

Which of the following is true about corals ?

(1) Coral polyps are long lived micro-organisms.

(2) Corals polyps do not live in colonies

(3) Corals polyps flourish in deep, mud free and cold water.
(4) Corals polyps secrete calcium carbonate
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yaTe % 9R B 7 § § -1 FeE 98 72

(1) o Gifered & 9 9 Siifod @4 arel gad woit 1
(2) wae it T9E H T8 W)

(3) e Hiterd e, Hiae Ued Ud 3¢ 5Tl H 2d 2 |

(4) Vo Uit ¥ Hfcwrad HeEHe &1 HE e €|

Options:-

.1, Option ID :- 541,
. 2, Option ID :- 542,
. 3, Option ID :- 543,

. 4, Option ID :- 544,
Answer Given:- 4, Option ID : -544

Question ID:- 137

Read the following statements about Himalayan Rivers and choose the correct answer from given
options.

(i) Himalayan rivers are perennial.

(i) Himalayan rivers receive water from rain and snow.
(i) Himalayan rivers form meanders in their upper course.
(iv) Himalayan rivers have well developed deltas.

(1) (1), (i) and (iii)

(2) (1), (i) and (iv)

(3) (i), (if) and (iv)

(4) (i), (iii) and (iv)

femmera =1 Afedi & ait # fou o fe el 1 98 oiR fomredi 9 | w8 S 1 ga Hi
(i) femmem =t Ffel arear 2 2 )

(i) e =Y =gl fost gu fem qen aifiwr gR1 Sty SR €1

(iii) emmera =t Afear s1a Fut s | famrdt o fawior et €1

(iv) Tewem =t afedi # foswfad S 2 g1

(1) (), () R (i)
2 (), (i) R (iv)
3 () (i) 3 (Qv)
(4) (i), (i) 3R (iv)
Options:-

.1, Option ID :- 545,
. 2, Option ID :- 546,
. 3, Option ID :- 547,

. 4, Option ID :- 548,
Answer Given:- 1, Option ID : -545

Question ID:- 138
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(1)
(2
(3)
(4)

Read the following statements about Brahmaputra River and choose the correct answer from
given options.

Statement (I) : In Tibet, the river carries high volume of water and high silt.

Statement (II) : In India, it passes through a region of high rainfall.

Both Statement (I) and Statement (II) are true.
Both Statement (I) and Statement (II) are false.
Statement (I) is true but Statement (II) is false.
Statement (I) is false but Statement (II) is true.

a1 F aR H f Feri 1 ufeu oIk fou gu fasredl # 9 W) S F =9EH #L
HA (1) : foeem d 39 78 O w1 v faee i Aen Fga At a7
AT (1) : 9 H T2 781 I a9 A1 & H H S [E 2

(1) e (1) 31R e (1) 9 98t €1
(2) R (I) 3w (1) SHi T €
(3) YT (1) TE T UL YA (I0) A 2|
(4) RYA (1) TG & TG HYA (1) T T
Options:-

.1, Option ID :- 549,
. 2, Option ID :- 550,
. 3, Option ID :- 551,

. 4, Option ID :- 552,
Answer Given:- 1, Option ID : -549

Question ID:- 139

Choose the odd one out.

(1) Narmada and Tapi both are penninsular rivers.

(2) Narmada and Tapi both originate from Madhya Pradesh.

(3) Narmada basin and Tapi basin both cover some areas of Maharashtra.
(4) Narmada and Tapi both depend on rainfall for water.

feros 4 |

(1) e &R ardt 1 & wegd afear €

(2) e iR At S 1 ST HET Yew | B €

(3) a1 Bl SR ardt Zof ST € HeRT & Fe feedl | awdl B

(4) e IR qrdt ST € St ok fag Fei W R wdt €
Options:-

.1, Option ID :- 553,
« 2, Option ID :- 554,
. 3, Option ID :- 555,

. 4, Option ID :- 556,
Answer Given:- 2, Option ID : -554
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Question ID:- 140

Which of the following Venn Diagram clearly depicts the relationship between climate and weather.

Weather
(1) Climate
Climate
(2)
Weather
3) Weather Climate
(4) Q O
Weather Climate

= § | -9 99 v Saar @R H2EE ¥ 99 & 99y S 98 UER § et s g ?

Hram
(1) SeaTg

ERELR
(2) Hraw

Options:-

.1, Option ID :- 557,
« 2, Option ID :- 558,
. 3, Option ID :- 559,

. 4, Option ID :- 560,
Answer Given:- 2, Option ID : -558
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Question ID:- 141

Read the statements below, one of them is Assertion (A) and the other is Reason (R).
Assertion (A) : Air temperature decreases from the equator towards the pole.

Reason (R) : Due to curvature of Earth, the amount of solar energy received varies according

to latitude.
Choose the correct option :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3)  (A) is true but (R) is false
(4) (A)is false but (R) is true

e el 0 oA | w1 3§ U ofeRe (A) ® 2R 95U ROT (R) B

srfireRer (A) : I99H fays g9 @ ydi #t 3R W S e

WIOT (R) : YAl &1 T o 2HIR01, 09I T Sl sl W= SAeT9 3 STHR STe-STerT 2l 3 |
e fareey &1 g |

(1) (A) 3R (R) 21 9@l 2 3R (R), (A) I H&l A 2 |
(2) (A) ¥R (R) SH T § 9L (R), (A) T TEl AR TE B T
(3) (A) W& & T (R) T B

(4) (A) TeTd & 9% (R) R €

Options:-

.1, Option ID :- 561,
« 2, Option ID :- 562,
. 3, Option ID :- 563,

. 4, Option ID :- 564,
Answer Given:- 2, Option ID : -562

Question ID:- 142

Read the following statements, One of them is Assertion (A) and the other is Reason (R).
Assertion (A) : Hills are cooler during summers.

Reason (R) : At Higher altitudes the atmosphere become more dense.

Choose the correct option :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)

(3)  (A)is true but (R) is false

(4) (A)is false but (R) is true
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e el = oA | wR 1 3§ U ofeRe (A) ® 2R 95U IOT (R) B
sifireRe (A) : Taifeatl el % e § of 22 Et 7

WAOT (R) : 9 Hag W agHee Fi YT 9g St ¥

et fasreT =1 gAE #E |

(1) (A) 3R (R) 21 9@l 2 3R (R), (A) I H&l = 2 |
(2) (A) ¥R (R) SH T § 9L (R), (A) T TEl AR TE HE T
(3) (A) W@ & T (R) Terd €

(4) (A) TeTd & 9% (R) R €

Options:-

.1, Option ID :- 565,
« 2, Option ID :- 566,
. 3, Option ID :- 567,

. 4, Option ID :- 568,
Answer Given:- 1, Option ID : -565

Question ID:- 143

Read the following statements carefully, One of them is Assertion (A) and the other is
Reason (R).

Assertion (A) : Delhi is very hot during summers & very cold during winters.
Reason (R) : Delhi is far from sea.

Choose the correct option :

(1)  (A) and (R) both are correct and (R) is the correct explanation of (A)

(2) (A) and (R) both are correct but (R) is not the correct explanation of (A)
(3) (A) is true but (R) is false

(4) (A)is false but (R) is true

e sl 61 oA | 0| 39 § U SifMeRY (A) § 3R gEY SRIT (R) B
arfireRer (A) : fooeh it § aga eiftr mi sl wfdel § aga aifvs 3 wdt 21
WHOT (R) : Tl 998 § 95d W €1

e fareT =1 gAE HE |

(1) (A) 3R (R) 21 9@l 2 3R (R), (A) I Hel A 2 |
(2) (A) ¥R (R) SH T § 9L (R), (A) I TEl AR TE H T
(3) (A) W@ & T (R) Terd €

(4) (A) TeTd & 9% (R) HR €

Options:-

.1, Option ID :- 569,
. 2, Option ID :- 570,
. 3, Option ID :- 571,

. 4, Option ID :- 572,
Answer Given:- 1, Option ID : -569

Question ID:- 144
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Choose the correct answer from the given options about India’s Latitude.
(i) Tropic of Cancer passes through middle of the country.

(i) Northern part of the country belongs to tropical area.

(iii) Southern part of the cmhmtl"}r belongs to sub-tropical area.

(1) Only (i)
(2) (i) and (iii)
(3) Only (i)
(4) (1) and (ii)

HRA o &Y % =1 H fou 1 fe7 foredl § 9 W&l ST 1 =599 H |
(i) ek I9 W F A H G oI
(i) 9 1 I AT T wfET 87 T
(ii) <91 o1 <farolt T 3o HfesEE €

(1) haa (i)
(2) (i) &R (i)
(3) ke (ii)
(4) (i) M (i)
Options:-

.1, Option ID :- 573,
. 2, Option ID :- 574,
. 3, Option ID :- 575,

. 4, Option ID :- 576,
Answer Given:- 1, Option ID : -573

Question ID:- 145

Which of the following is true about Coriolis force ?

(1) Itis an apparent force caused by Earth’s gravitational force.

(2) Itis an apparent force caused by Earth’s rotation.

(3) Itis responsible for deflecting winds towards the left in the northern hemisphere.
(4) Itis responsible for deflecting winds towards the right in the southern hemisphere.

7 o | FH-T1 Fen Fifenfam oo % ar H 98 § 2

(1) =8 g & TEAFEY g & RO SeTa G Frell Uk S ot 7 |
(2) % YA % FUH & RO I B ATl T S 9

(3) ¥E 9 TaA o I Mewrs H a9 AR fadfug s & o swerEt 2
(4) I oA YAl b gfaoft s § 21 SR fadfd # % fou swert §)

Options:-

.1, Option ID :- 577,
« 2, Option ID :- 578,
. 3, Option ID :- 579,
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. 4, Option ID :- 580,
Answer Given:- 2, Option ID : -578

Question ID:- 146

National Population Policy of India focuses on :

(i) imparting free and compulsory school education.
(i) reducing infant mortality rate.

(iii) compulsory sterilization to reduce birth rate.

(

iv) creating awareness about the risk of unprotected sex among adolescents.

(D) () (i) and (i)

(2) (i) and (iii)

(3) (@) (i) and (iv)

(4) (1), (i) and (iv)
g S i i @

() e AR wiftard faemer faen @7

(i) TIY T HFA FH W

(iii) S L HH FE & fag AfEE F9a8 ©w

(iv) TRl forenfedi & orqRfarg A Saie & FUEl o a) H Skl @ 1T

(1) () (i n‘i)
(2) (u)aﬂi

(3) () (i )eﬂ?(w)
(4) (i), (iii) 3R (iv)
Options:-

.1, Option ID :- 581,
« 2, Option ID :- 582,
« 3, Option ID :- 583,

. 4, Option ID :- 584,
Answer Given:- 4, Option ID : -584

Question ID:- 147

Which of the following is true about “enrichment plantation” ?
(i)  In this process, a single commercially valuable species is extensively planted.

il In this process, the plantation is being done to reduce land erosion.

P

(
(iii) It leads to damaging of the natural forests.
(iv) Itleads to increase in diversity of forest.

(1) (i) and (iii)
(2) (i) and (iv)
(3) () and (ii)

(4) (i) and (iv)
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e o § -w1 e g g’ & gey § el g2

() =9 ufsran ¥ anfoea =6t gfE | SwERTt wehar & @ Javr foRen S 2
(i) =g wisman yf wera & Aha & fo 1 st 2

(iii) =9 wferan A yrepfask a7 Faig & 9 2 |

(iv) =59 i ot fafaea sedt 2

(1) (i) SR (i)
(2 (i) & (iv)
(3) (i) #R (i)
(4) (i) 3R (iv)
Options:-

.1, Option ID :- 585,
. 2, Option ID :- 586,
. 3, Option ID :- 587,

. 4, Option ID :- 588,
Answer Given:- 2, Option ID : -586

Question ID:- 148

Read the foljowing statements about water scarcity & choose the correct answer from given
statements.

Statement (I) : Water scarcity only happen in those areas which have less water resources.
Statement (II) : Water scarcity can never happen in areas having high rainfall.

(1) Both Statement (I) and Statement (II) are true

(2) Both Statement (I) and Statement (II) are false

(3) Statement (I) is true but Statement (II) is false

(4) Statement (I) is false but Statement (II) is true

el geiwdl o o) H feu U 1= el 6 e 9 € iR feu e fammedl H ¥ wEl S o1 g i
WY (1) : 5 gelvIdl kel 39 T T E! §, STel Siel HETEHl i HH A 2 |
HAT (1) : Tt gAYl F+f off srcaferss aul arer T W & & T |

(1) oheM (I) 3R HA (1) SHI T B
(2) e (1) X e (11) M ord 2
(3) HYT (1) TE B 9T YA (1) A 2 |
(4) YT (1) TeTd § TG HUT (1) HE 7

a

Options:-

.1, Option ID :- 589,
. 2, Option ID :- 590,
. 3, Option ID :- 591,

. 4, Option ID :- 592,
Answer Given:- 3, Option ID : -591

Question ID:- 149
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Given below are two statements. One is an Assertion (A) and the other is Reason (R).
Assertion (A) : Arhar, being a leguminous crop, helps in restoring soil fertility.
Reason (R) : Arhar is mostly grown in rotation with other crops.

Choose the correct answer from given options :

(1) (A) and (R) both are correct and (R) is the correct explanation of (A).

(2) (A) and (R) both are correct but (R) is not the correct explanation of (A).

(3) (A) is true but (R) is false.

(4) (A) is false but (R) is true.

=1 &1 e fag e 1 EH | U afeRe (A) © SR E @IOT (R) B
TUFHT (A) : IWE, TH FeARR FEA T o HN, YH i I A T TEA
WIOT(R) : WX ! STHOR T 7 THall o ST § s i g1

fau gu fasredi § § W ST F1 T F |

(1) (A) 3R (R) 21 9@l 2 3R (R), (A) I H&l = 2 |
(2) (A) ¥R (R) SH T § 9L (R), (A) T TEl AR TE HE T
(3) (A) Tl § TG (R) T €

(4) (A) 7T & 9] (R) HR €

Options:-

.1, Option ID :- 593,
« 2, Option ID :- 594,
. 3, Option ID :- 595,

. 4, Option ID :- 596,
Answer Given:- 4, Option ID : -596

Question ID:- 150

Read the below statements and choose the correct option.

Statement (I) : Earth’s crust is made up of different metals embedded in the rocks.
Statement (II) : Various minerals are extracted from these metals after proper refinement.
(1) Both Statement (I) and Statement (II) are true

(2) Both Statement (I) and Statement (II) are false

(3) Statement (I) is true but Statement (II) is false

(4) Statement (I) is false but Statement (II) is true

1= feu g YAl 1 U¢ 31 Hel forehed =1 =4 i |
|/ (1) : Y-y fafim urgedl % 2m @ =+ =g 9 fafda 2
HA (I1) : 37 gl 1 ST e FFk & fafvm urqd et s &1

(1) e (1) 31R e (1) 391 98 €
(2) e (1) T e (11) M ot 2 |
(3) HYT (1) TE B UL YA (1) Terd |
(4) HYF (1) TG & TG HYA (1) FE 7
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Options:-

.1, Option ID :- 597,
« 2, Option ID :- 598,
. 3, Option ID :- 599,

. 4, Option ID :- 600,
Answer Given:- 1, Option ID : -597

Question ID:- 151

Aluminium is metal.
(i) Very strong

(i) Very light

(iii) Very resistive

(iv) Highly malleable

(1) (i), (ii) and (iii)
(2) (i), (ii) and (iv)
(3) (ii), (iil) and (iv)
(4) (1) and (i)

()  =ga St
(i)  SgA TRl

(iif) =g FCT
(iv) =g =T
(1) (), (i) 3R (i)
@ (), (i) 3R (iv)
(3) (i), (iii) ¥R (iv)
(4) () ¥R i)
Options:-

.1, Option ID :- 601,
. 2, Option ID :- 602,
. 3, Option ID :- 603,

. 4, Option ID :- 604,
Answer Given:- 3, Option ID : -603

Question ID:- 152
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Manufacturing sector is considered the backbone of development because :
(i) It reduces people’s dependence on agricultural income.

(i) It modernises agriculture.

(iii) Import of manufactured goods expands trade and commerce.

Code :

(1) (i) and (ii)
(2) (i) and (i)
(3)  (iii) only
(4) (i) only

fafmio szim =1 fasg =1 de T9en s & FiifF
() IE FHfu W enfefem Fefar @ w9 a7

(ii) % Hf 1 YfTRiRT |

(iii) Frfa a%gell 1 e afos 9 SR FFe
%< :

(1) (i) 3 (i)

(2 (i) 3R (i)

(3) e (i)
(4) FF (i)
Options:-

.1, Option ID :- 605,
. 2, Option ID :- 606,
. 3, Option ID :- 607,

. 4, Option ID :- 608,
Answer Given:- 1, Option ID : -605

Question ID:- 153

Read the statements below and choose the correct option.
Statement (I) : The Textile Industry occupies unique position in the Indian economy.

Statement (II) : Textile Industry is the only industry in the country which is self reliant and
complete in the value chain, i.e. from raw material to the highest value added
products.

Both Statement (I) and Statement (II) are true
Both Statement (I) and Statement (II) are false
Statement (I) is true but Statement (1I) is false
Statement (I) is false but Statement (II) is true

ﬁﬁ,__ﬁ
r =
R

-
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= fou gu ol =1 ufeu iR wEt fasey &1 597 |
WY (1) : WA 3oferreen H =@ 32 o fafere e 2

HA (1) : TEH TN SV H 3ehell IUN € 51 F= T1el H olepd I=qH AfIRE g 341G T i g@el o
fegol qem STt )

(1) <M (1) 3R e (1) A1 921 €
(2) e (I) X weM (I1) SF TTord 2 |
(3) TR (I) HEl & T HA (II) TTerd & |
(4) I (1) TG § UG HYA (1) FE R
Options:-

.1, Option ID :- 609,

. 2, Option ID :- 610,

. 3, Option ID :- 611,

. 4, Option ID :- 612,
Answer Given:- 3, Option ID : -611

Question ID:- 154

Below are two statements. One is Assertion (A) and the other is Reason (R). Read them carefully
and choose the correct option,

Assertion (A) : Sugar Industry is seasonal in nature.

Reason (R) : Sugar Industry is ideally suited to the cooperative sector.
(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A) is true but (R) is false

(4) (A) is false but (R) is true

e < oA € 1378 § u ifireRe (A) © i 80 SIOT (R) ¥13% o9F ¥ 0¢ oiR e fasew 1 g
Eadl

feRer (A) : =IFT 3TN 1 YR T B

HIUT (R) : =T IR Hehrl &7 6 forg 39ge 2

(1) (A) 3R (R) 31 W& € 311 (R), (A) ! TEI =AW Ll 2 |
(2) (A) ¥R (R) SFT B2 § g (R), (A) FI e =S Tl I 2
(3) (A) HE ? W (R) TId B

(4) (A) TEd € I (R) W& B

Options:-

.1, Option ID :- 613,
« 2, Option ID :- 614,
. 3, Option ID :- 615,

. 4, Option ID :- 616,
Answer Given:- 2, Option ID : -614

Question ID:- 155
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If you are in the electronic capital of India, then you are in :

(1) Mumbai
(2) Hyderabad
(3) Bengaluru
(4) Chennai

S 319 YR &t e qeieEt § § o 31
it=H

FLIC I

ERGE)

EEE

gl

Options:-
.1, Option ID :- 617,

. 2, Option ID :-
. 3, Option ID :-
. 4, Option ID :-

Answer Given

618,
619,

620,
:- 3, Option ID : -619

Question ID:- 156

Constitution of South Africa guarantees following rights to citizens -

(1) Right to privacy

(i) Right to have access to adequate housing
(iii) Right to have sufficient food and water.
(iv) Right to have armed revolt.

Code :

(1) (i) and (ii)

(2) (i) and (iv)

(3) (i), (ii) and (iii)

(4) (), (i) and (iv)

efequ stieRt & dfaum § At =1 Fafafean afuer o ®

(i) A= = iR

(ii) I STETE 9 SAFER
(ifi) AT S iR U 1 ATR
(iv) Here fogte =1 stfeepr

%<

(1) () ¥ (i)

(2 (i) ¥ (iv)

(3) (), (i) S (i)

(4) (), (i) W ({iv)
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Options:-

.1, Option ID :- 621,
« 2, Option ID :- 622,
« 3, Option ID :- 623,

. 4, Option ID :- 624,
Answer Given:- 3, Option ID : -623

Question ID:- 157

It is true about National Human Rights Commission that :

(i)  This is an independent Commission set up by law in 1993.

(i) Like judiciary, the Commission is independent of the government.

(iii) Commission is appointed by the President and Chief Justice of Supreme Court.
(

iv) The Commission presents its findings and recommendations to the government or intervenes
in the court on behalf of the victims.

(1) (i) and (ii)

(2) (i) and (iii)

(3) (1) (i) and (iv)

(4) (i) (i) and (iii)

T AHEIHEFR ST & o) § 96 ¢

() @8 1993 H T % §R S TN T sl SET &

(ii) =AU ST a8 STER i TRFR & W67 2 ¢ |

(iil) S =t Frafm el oIk S = & qe e fres w17 €
(iv) TR S1q i ot e ST e1vs gema SR o <o € A difedl i i ¥ s H que & g
(1) (i) 3R (i)

(2) (i) ¥ (iii)

3 (), (i) R v)

(4) (), (i) 3 (iii)

Options:-

.1, Option ID :- 625,
. 2, Option ID :- 626,
. 3, Option ID :- 627,

. 4, Option ID :- 628,
Answer Given:- 3, Option ID : -627

Question ID:- 158

Think about the following statements and choose the correct option.

Statement (I) : Constitution provides many more rights, which may not be fundamental rights.
Statement (II) : Right to property is a fundamental right but it is not a constitutional right.

(1) Both Statement (I) and Statement (II) are true

(2) Both Statement (I) and Statement (II) are false

(3) Statement (I) is true but Statement (II) is false

(4) Statement (I) is false but Statement (II) is true
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T Al T faar Y @R e ooy &1 =3 &)
HYA (1) : Taum ore gat Afusr ot 3o § s difes sifusr =2 31
e (I1) : Tufe W@ &1 Afspr difers iR €, | g3 sifusr =& 3

(1) e (1) 31k e (1) < 98 €1
(2) e (I) R e (1) <Fi Terd €1
(3) e (1) TE § ifehd e (1) Terd 2
(4) YA (1) T ¢ AR e (1) T 7

Options:-

.1, Option ID :- 629,
« 2, Option ID :- 630,
. 3, Option ID :- 631,

. 4, Option ID :- 632,
Answer Given:- 2, Option ID : -630

Question ID:- 159

Below are statements. One of them is Assertion (A) and the other is Reason (R).

Assertion (A) : Constitution makers were so particular in providing written guarantees of the
rights of the minorities.

Reason (R) : Working of democracy gives power to the majority.
Choose the correct answers from given options.

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3)  (A) is true but (R) is false

(4) (A) is false but (R) is true

19 B o feu T §1 U 1 U (A) 3R T 1 SIOT (R) FE T E

IR (A) : TR HiauE fmfa sieasessi & Aty &1 fafea T & fau s 399 91
WIOT (R) :  ciehdd w1 HEATSH TSI SgUeieh] F1 S3e] aiehd < Sl & |

fu gu forsredi H 9 WE ST 1 G |

(1) (A) 3iR (R) EHT & E 01 (R), (A) i TLl AT FT |

(2)  (A) ¥R (R) T T&l € A (R), (A) F1 T& =0 T2 2 2 |
(3) (A) §& & &R (R) T B

(4) (A) 7o ¥ AfR (R) TR T

2

Options:-

.1, Option ID :- 633,
. 2, Option ID :- 634,
. 3, Option ID :- 635,

. 4, Option ID :- 636,
Answer Given:- 3, Option ID : -635

Question ID:- 160
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The practice of untouchability has been constitutionally forbidden in any form. Untouchability
means :

Statement (I) : Untouchability means refusal to touch people belonging to certain castes.

Statement (II) : It refers to any belief or social practice which looks down upon people on account
of their birth with certain caste labels.

(1) Both Statement (I) and Statement (II) are true
(2) Both Statement (I) and Statement (II) are false
(3) Statement (I) is true but Statement (II) is false
(4) Statement (I) is false but Statement (II) is true

ot off T % ermad 1 AUt T § Mo FRR e T ¥ e gesd e ¥

HYA () : I8 DG 1 Hace H W SAfcdi o @il = IR DA F 99T 7

HUA (II) : I8 37 TR T Ardiell R =Rl 1 ot Ted R <1 7, S e am sifa § 5=
o 9 G ST Rl A TSR Y S o g

(1) <M (1) 3R e (1) A1 921 €

(2) e (I) X weM (I1) SF TTord 2 |

(3) YA (I) & T WfehT U (II) TTeTd €
(4) TR (I) T § EfRT AT (11 ) Tl 8
Options:-

.1, Option ID :- 637,

. 2, Option ID :- 638,

. 3, Option ID :- 639,

. 4, Option ID :- 640,
Answer Given:- 1, Option ID : -637

Question ID:- 161

Who among the following is a part of the political executive ?
(1) District Collector

(2) Secretary of the Ministry of Home Affairs

(3) Home Minister
(

4)  Director General of Police

Frefafaa § =9 Ao sEufee = feem am g ?

(1) TS

(2) & HeAerd w Hiwe

(3) T

(4) Yfew weifeues
Options:-

.1, Option ID :- 641,
« 2, Option ID :- 642,
. 3, Option ID :- 643,



https://aview.in/
https://aview.in/category/previous-papers/

. 4, Option ID :- 644,
Answer Given:- 3, Option ID : -643

Question ID:- 162

Below are two statements. One of them is Assertion (A) and the other is Reason (R).
Assertion (A) : India has an integrated Judiciary.

Reason (R) : Supreme Court controls the judicial administration in the country.
Which of the following is true in the context of above statements ?
(1) (A) and (R) both are true and (R) is the correct explanation of (A)

(2) (A) and (R) both are true but (R) is not the correct explanation of (A)
(3) (A) is true but (R) is false
(4)  (A) is false but (R) is true

9 € gaaed fau T ¥ 1 U i R (A) TR T 1 ST (R) FEI AL
ARTRI (A) : 9RG T IR Thigd 1

WHOT (R) :  Hal e <9 H =Afaek J9mee i fHE0a o €1

Iy SHT SEeAl & ged # Frefafad § & - gd 72

(1) (A) 3R (R) EHT & E 01 (R), (A) i TEI AT FT |
(2) (A) R (R) S TE & 91 (R), (A) Y Tl =T TE Al T
(3) (A) ¥& & @feka (R) Ted B

(4) (A) 7o ® @ (R) ST &)

Options:-

.1, Option ID :- 645,
. 2, Option ID :- 646,
. 3, Option ID :- 647,

. 4, Option ID :- 648,
Answer Given:- 1, Option ID : -645

Question ID:- 163

It is true about President of the United States of America that :

(i)  President is not answerable to the Congress.

(i) His /Her tenure is for five years.

(iii) He/She doesn’t need the support of the majority of members in the Congress.
(

iv) He /She can complete his/her tenure even if his/her party does not have a majority in the

Congress.

(1) (i) and (i)
(2)  Only (iii)
(3) (i), (iii) and (iv)
(4) (i), (iii) and (iv)
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sTfian! wgafd & e H |e ¢

()  Tegufa s % ufa Saer @ g1

(i) SHHT FdHe o 9 H1 S B

(i) TLUfd I % foru Sq HiG F TgHT F YU F1 ST el 2l |

(iv) STOt 9Tel ol i B 9gHd 7 8 9 off 9% ST ¥ {91 e G I § |
e

(1) () I (@)

(2) (i)

(3) (i), (i) R ()

(4) (i), (iii) 3 (iv)

Options:-

.1, Option ID :- 649,
. 2, Option ID :- 650,
. 3, Option ID :- 651,

. 4, Option ID :- 652,
Answer Given:- 4, Option ID : -652

Question ID:- 164

Below are two statements. One is Assertion (A) and the other is Reason (R).

Assertion (A) : Parliamentary democracy in most countries is often known as the cabinet form of
government.

Reason (R) : Decisions are taken in cabinet meetings.

Which of the following is true in the context of above statements ?

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

( Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A) is true but (R) is false

(4) (A) is false but (R) is true

1 &1 geea fou T €1 e F1 ifueRe (A) 3R SHY I RIOT (R) FE T
AR (A) : Y Ul H HHE ha ] HIHR 1 ki Y FHal Sl 8 |
WOT(R) :  HEQl hfee &l 9@ § fhy Sd B 1

Iwfe S el % Hed § frfefaa § 4 - wd § 2

(1)  (A) ¥R (R) EFT =& € T2 (R), (A) i G& = 7|

(2) (A) 3R (R) T G € WA (R), (A) T T = 78 €
(3) (A) TEI T AfFA (R) 7o 2

(4) (A) e ® @R (R) H&l 21

2

Options:-

.1, Option ID :- 653,
« 2, Option ID :- 654,
« 3, Option ID :- 655,
. 4, Option ID :- 656,
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Answer Given:- 1, Option ID : -653

Question ID:- 165

Below are two statements. One is an Assertion (A) and the other is Reason (R).
Assertion (A) : Prime Minister is free to choose ministers.

Reason (R) : After the appointment of the Prime Minister, the President appoints other ministers
on the advice of the Prime Minister.

Which of the following is true in the context of above statements ?

(1) (A) and (R) both are true and (R) is the correct explanation of (A)
(2) (A) and (R) both are true but (R) is not the correct explanation of (A)
(3) (A) is true but (R) is false

(4) (A) is false but (R) is true.

9 € gaaed fau T ¥ 1 U i AR (A) 3R T 1 ST (R) FEI AL

aifireRer (A) : e HiEET % 5ge % fou @ B #

WOT (R) : Wl o TR i o &i1e Ul Jeresi s JaR 9 gal Hidi &l e & 21
Iga < aaae & ged # frefofaa § & wiF-a1 gd ®2

(1) (A) 3R (R) SHT & E 01 (R), (A) I TEl AT F |
(2) (A) R (R) S T & 791 (R), (A) T TET =R T HI 7
(3) (A) §& & &R (R) T B

(4) (A) e § wifRd (R) WEl B

Options:-

.1, Option ID :- 657,
« 2, Option ID :- 658,
. 3, Option ID :- 659,

. 4, Option ID :- 660,
Answer Given:- 1, Option ID : -657

Question ID:- 166

Think about the following statements and choose the correct answer :

Statement (I) : Prime Minister is the most important political institution in the country.
Statement (II) : There is direct election to the post of the Prime Minister.

(1) Both Statement (I) and Statement (II) are true

(2) Both Statement (I) and Statement (II) are false

(3) Statement (I) is true but Statement (II) is false

(4) Statement (I) is false but Statement (II) is true
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T YA W =R # W6 T w )
WY (1) : WG o TN TaH Heaqol TsHias S 2
HYT (I1) : 9Id § GHEE F o were g @ g

(1) R (1) 2R e (1) 21 T& €1
(2) e (1) T e (1) M ot 2 |
(3) R (I) Tl € wifeh e (11) 7Terd &1
4) HIF () T 2 AfFET HYA (1) T T

Options:-

.1, Option ID :- 661,
« 2, Option ID :- 662,
. 3, Option ID :- 663,

. 4, Option ID :- 664,
Answer Given:- 4, Option ID : -664

Question ID:- 167

87. Think about the statements and choose the correct answer :
Statement (I) : Rajya Sabha is more powerful than Lok Sabha.
Statement (II) : Our constitution has given the Rajya Sabha some special powers over the states.

(1) Both Statement (I) and Statement (II) are true
(2) Both Statement (I) and Statement (II) are false
(3) Statement (I) is true but Statement (II) is false
(4) Statement (I) is false but Statement (II) is true

= HYA T faar # HE W H FHA H
HA (1) : TF T, &A1 T ST YE9med S 2 1
HYA (1) : T diaye § W & day § T 991 1 F9 fovm sifemmr few e #)

(1) e (1) 2 wmem (1) 21 T& )
(2) e (I) R e (1) <Fi TTed )
(3) RYT (I) T € wifeh e (I1) TTed 2
(4) HIF (1) T & AR HAF (1) FE T

Options:-

.1, Option ID :- 665,
. 2, Option ID :- 666,
. 3, Option ID :- 667,

. 4, Option ID :- 668,
Answer Given:- 2, Option ID : -666

Question ID:- 168
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Read these statements carefully and choose the correct option :

Statement (I) : Any ordinary law needs to be passed by both the Houses. But, if there is a difference
between the two Houses, the final decision is taken in a Joint Session.

Statement (II) : In joint session, members of both the Houses sit together. Despite having less
number of members, the views of Rajya Sabha are given priority.

(1) Both Statement (I) and Statement (II) are true
(2) Both Statement (I) and Statement (II) are false
(3) Statement (I) is true but Statement (II) is false
(4) Statement (I) is false but Statement (II) is true

T Tl I S U6 SR el foashed = T hi |

HYA (1) : Forgt ot I S 1 Tifta R % forg ST weHl it SR Bt § | SR TR a1 |eAl
&= %h1s HEHE 21 o SAfaH THeel S o Hge sifereree | R S 2

WA (II) : HFF AferEyE | I HeAl o 9 UF WY 93d ¥ | eE Hl GeN w9 g & aeeg i

Ta % fa=m = wrefirarn faerd %
(1) e (1) 2R wmer (1) <M1 98t €
(2) A (1) iR wer (1) S e B
(3) THT (I) HEl & SR AT (1) TTowd &
(4) heM (I) Tad € SR e (1) T& T

Options:-

.1, Option ID :- 669,
. 2, Option ID :- 670,
. 3, Option ID :- 671,

. 4, Option ID :- 672,
Answer Given:- 3, Option ID : -671

Question ID:- 169

Think about these statements in the context of India and choose the correct answer.
Statement (I) : President is the head of the state and is the highest formal authority in the country.

Statement (II) : Prime Minister is the head of the government and actually exercises the power on
behalf of the President.

(1) Both Statement (I) and Statement (II) are true
(2) Both Statement (I) and Statement (II) are false
(3) Statement (I) is true but Statement (II) is false
(4) Statement (I) is false but Statement (II) is true
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IRA % Geof § 29 Foe W fa9R 2 9E W F 99 F)
HAA () : Tegufa Tereme gl § R i ®9 9 <9 o wed @ sAfusr g §1

A (1) : JHFHT TR 1 THE a1 § 3R ST Tl i 277 § Aterisn st 1 semmea a8l
FLAE |

(1) <o (1) 2R e (11) <91 w2 21
(2) e (I) X e (1) SF TTerd 2 |
(3) YA (1) TE T AR e (11) TTed T
(4) R (I) T € eifeh e (1) WEl ©

1

2

Options:-

.1, Option ID :- 673,
. 2, Option ID :- 674,
. 3, Option ID :- 675,

. 4, Option ID :- 676,
Answer Given:- 1, Option ID : -673

Question ID:- 170

Read these statements carefully and choose the correct option.

(i) “Nyaya Yudh (Struggle for Justice) Movement’ happened in Jharkhand.
(i) Chaudhary Devi Lal formed the “Lok Dal Party’.

(iii) In 1982, Haryana had a government led by the Lok Dal party.

(1) (i) and (i)
(2)  Only (i)
(3) (i) and (iii)
(4)  Only (iii)

= YA I AH H UG AR Fel faeed # = H

(1) ‘TE g ke ARES § gaT o |

(ii)y =l <o A ke wél 1 e TR o

(iil) BN T 1982 H ‘wiehed U@l I AT Sel FEhE o |

(1) (i) T (i)
(2) e (i)
(3) (i) 3R (i)
(4) Fad (iii)
Options:-

.1, Option ID :- 677,
« 2, Option ID :- 678,
. 3, Option ID :- 679,

. 4, Option ID :- 680,
Answer Given:- 1, Option ID : -677

Question ID:- 171
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Below are two statements. One of them is Assertion (A) and the other is Reason (R).

Assertion (A) : In a democratic country, the election should be conducted in a free and fair
manner.

Reason (R) : Political parties can get their members elected by their own wish.
Which of the following is true in the context of above statements ?

(1)  (A) and (R) both are true and (R) is the correct explanation of (A).

(2) (A) and (R) both are true but (R) is not the correct explanation of (A).

(3) (A)is true but (R) is false.

(4) (A) is false but (R) is true.

9 € gaeT fau T ¥ | U i USRI (A) 3R T I SRIUT (R) FEI AL
feRe (A) @ Tehdite <8 § A9 Taa iR fae & § s s = |

WEOT (R) :  SHifaess il o797 e &1 A ST $81 o STHR O% T | |
9 S gl o ded | Freifafed § § $-ar wd €2

(1) (A) 31 (R) 21 & € &ifeF (R), (A) T 6 =amen T
(2) (A) 3R (R) T G € @R (R), (A) T T = 78 €1
(3) (A) §& & @feR (R) @ B

(4) (A) ToR € Wl (R) W €

Options:-

.1, Option ID :- 681,
« 2, Option ID :- 682,
. 3, Option ID :- 683,

. 4, Option ID :- 684,
Answer Given:- 3, Option ID : -683

Question ID:- 172

Read these statements carefully and choose the correct option.

Statement (I) : Any Indian citizen gets the right to vote after attaining 18 years of age.
Statement (II) : There isnominimum age for Indian Citizens to become a candidate in the elections.
(1) Both Statement (I) and Statement (II) are true

(2) Both Statement (I) and Statement (II) are false

(3) Statement (I) is true but Statement (II) is false

(4) Statement (I) is false but Statement (II) is true
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= YAl I AH 9 UG IR FEl fased # = H
HA (1) : BB off wRe AFTRER 18 79 1 39 | € 9 Ser & sifusd & S g
HA (1) : T TRIRRT o6t g H IR a9 & g a9 39 e 2

(1) oM (1) 2R e (1) <1 98 €1
(2) e (I) R e (1) <Fi TTed )
(3) HYUT (I) Tl & wifehd aher (I1) TTed 2
(4) HIF (1) T & ARFA HAF (1) FE T

Options:-

.1, Option ID :- 685,
« 2, Option ID :- 686,
. 3, Option ID :- 687,

. 4, Option ID :- 688,
Answer Given:- 3, Option ID : -687

Question ID:- 173

There are some restrictions on candidates and parties during Model Code of Conduct. Choose
those which are correct :

(1) To make any promise in the process of election campaigning.

(2) Use of any religious place for election campaigning.

(3) Prohibition on use of any personal vehicle or plane.

(4) The minister can lay foundation stones of any big project after the announcement of election.

AR Hied # seiear] ik wiiédi %1 9 yEifeat € 1 S 98 € SHeH =51

(1) A8 Y=R % %° H 918 HH W

(2) FTE TER & fou fmwE greee & 3w W)

(3) Frsit ame = fam =1 g afsid 2

(4) AT i AN & ST % arg Helt Rt 9 e o ey % g B

Options:-

.1, Option ID :- 689,
« 2, Option ID :- 690,
. 3, Option ID :- 691,

. 4, Option ID :- 692,
Answer Given:- 2, Option ID : -690

Question ID:- 174
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Why does elections happens ? Which of the following statements are true about this ?
(i)  Elections enable the people to judge the performance of the government.

(i) People can prepare the policies of their own choice by election.

(iii) Elections enable the people to evaluate the performance of the judiciary.

(1) Only (i)
(2) (1) and (i)
(3)  Only (iii)
(4)

(if) and (iii)

A B € 7 AR H TH § -1 9 We 7

() T Al R R % FTERS e FRA a8 3§

(i) @R A § ST THS i Al S FH § |

(i) AT T T AGCAR & FIIHIS H1 Godih F H TR 2 |

(1) e (i)
(2) @) ¥R (i)
(3) R (i)
(4) (i) 3R (i)
Options:-

.1, Option ID :- 693,
. 2, Option ID :- 694,
. 3, Option ID :- 695,

. 4, Option ID :- 696,
Answer Given:- 1, Option ID : -693

Question ID:- 175

Constitution has following works :
(i) It generates a degree of trust and coordination among different kinds of people.

(i) It specifies how the government will be constituted and who will have the power to take
decisions.

(iii) It lays down unlimited powers to the government.

(1)  Only (i)

(2) () and (ii)
(3)  Only (iii)
(4) (i) and (iii)
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Hfagr & frefafed wE ¢

() fafie @@ % @ril % o e sl SR weEn fasmfad & g

(i) € S § o5 TR & eA FH e oin frd et o o sifeer g
(ili) % TRHR % AfRT 1 SHIHT L €1

() e (i)

(2) () 3R (i)

(3) e (iii)

(4) (i) 3T (i)

Options:-

.1, Option ID :- 697,
« 2, Option ID :- 698,
. 3, Option ID :- 699,

. 4, Option ID :- 700,
Answer Given:- 2, Option ID : -698

Question ID:- 176

Following are the objectives of Federal System of governance.

(i) To safeguard and promote the unity of the country.
(ii) To not respect the regional variations.
(1) (1) and (ii) both are true.
(2) (1) and (ii) both are false.
(3) (i) is true but (ii) is false.
(4) (i) is false but (ii) is true.
Hefta sree e & Frefafad stw €
(i) ¥ ! UHAT I GIET FHLAT SR Y FEIE oA |
(i) & fafaerdist 1 9eE 728 )
(1) (i) 3 (i) <=1 T ¥
(2) (i) 3R (i) S T
(3) (i) =t %* AR (ii) TToTE 7 |
(4) (i) T © AfRA (i) IR 7
Options:-

.1, Option ID :- 701,
. 2, Option ID :- 702,
. 3, Option ID :- 703,

. 4, Option ID :- 704,
Answer Given:- 3, Option ID : -703

Question ID:- 177
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Below are two statements about decentralization. Choose the correct option.

Statement (I) : In this, the power is taken away from Central and state government and given to
local government.

Statement (II) : The basic idea behind decentralization is that there are many issues and problems

which can be resolved at local or state level, but the control of Central government
should be ensured, that is why it is done.

(1) Both Statement (I) and Statement (II) are true
(2) Both Statement (I) and Statement (II) are false
(3) Statement (I) is true but Statement (II) is false
(4) Statement (I) is false but Statement (II) is true

ke & e § frefafaa aeaed  § et fasey &1 =97 =

WA (1) : 3HH g IR T TR § Wil ot T GERRi & S 2

HYA (I1) : o= & e gl 9ra 72 7 T ot g8 Si auensti &1 Faer = =1 39 ®R W
& 21 S AR g TR 1 a1 1 st T R o 2

(1) <o (1) 2R e (11) <41 w2t 2
(2) e (I) ¥ e (1) SH Terd 2 |
(3) U (I) TEl T A R () 7T &
(4) A (1) T § AR R (1) T B

1

2

Options:-

.1, Option ID :- 705,
« 2, Option ID :- 706,
. 3, Option ID :- 707,

. 4, Option ID :- 708,
Answer Given:- 4, Option ID : -708

Question ID:- 178

In India, seats are reserved for women in :
(1) Lok Sabha

(2) State Legislative assemblies

(3) Cabinets

(4) Panchayati Raj Bodies

IRa H ZeT il o foIu, sReq =t =aeen §
(1) @rRE
(2) faumTEsn
(3) HEE TS Y HEm
(4) wHfHEA
Options:-

.1, Option ID :- 709,
. 2, Option ID :- 710,
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. 3, Option ID :- 711,

. 4, Option ID :- 712,
Answer Given:- 3, Option ID : -711

Question ID:- 179

Think about following statements and choose the correct answer :

(i) According to the Constitution, the use of English for official purpose was to stop in 1965.
However, many non-Hindi speaking states demanded that the use of English should continue.

(i) In 1965, there were violent revolts against the compulsion of use of English.

(iii) The Central Government resolved the matter of Hindi - English dispute by agreeing to continue
the use of English along with Hindi.

(1)  Only (i)

(2) () and (ii)
(3) (i) and (iii)
(4) (i) and (iii)

frfafed Foal W fo=R T 98 ST &1 9296 =

(i) TfEIH % FTUR YRR HTHHS Hi U9 & AR 9T SIS N YEE 1965 H &g & 9 S1feT o1 W
e TRt st wewit = HiT 6 Tk STEIST 1 WaRT SIRT @ S |

(i) ARH H Al 1965 H TS < YANT i STfEmIT il oo 39 foliy qagi= gu 9|
(i) g TR 7 &€ F m-ary el F1 ToEE FwE H§ gAe 6 rEfa S -l faae #

|
(1) =a (i)
(2) (i) ST (i)
(3) () I (i)
(4) (i) I (iii)
Options:-

.1, Option ID :- 713,
. 2, Option ID :- 714,
. 3, Option ID :- 715,

. 4, Option ID :- 716,
Answer Given:- 3, Option ID : -715

Question ID:- 180
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What was the reason behind the confrontation between the Sinhala-speakers and Tamil-speakers
in Sri Lanka ?

(A) The majority of Sinhala speaking people.

(B) The majority of Tamil speaking people.

(C) Most of the Sinhala speakers were Buddhists.
(D) Most of the Tamils were Hindus.

Code

(1) (A) and (B)

(2) (B) and (D)

(3) (A), (C) and (D)
(49 (B), (C) and (D)

sicien H feett- it siv afga- sl & <= 2ua o o = 912
(A) Tt Sl =1 =gerar |

(B) dfH@-=ie arel @Rl i sgerd |

(C) siferrax fogett vl &m aig 2 |

(D) Afersra afge @ feg 21

(A) 3T (B)

(B) ¥R (D)
(3 (A) (© ¥R (D)
(4)  (B), (O) 3R (D)
Options:-
.1, Option ID :- 717,
. 2, Option ID :- 718,
. 3, Option ID :- 719,

. 4, Option ID :- 720,
Answer Given:- 3, Option ID : -719
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